Vacuum Module

Series ZX

Ejector System/Vacuum Pump System

C€ &k

[Option]

N
=

=]

-IFor electronic components and precision components
up to 100 g

N
=

WEEEHER >

MA
-IModuIar design

Customized application function through selection of module components.

INDEX

JA (W

Characteristics/Application Examples --:-:woeeeee P.864
Modular Components Introduction «:-:::-weeeeeeeeeee P.865 72FC]
\ Ejector System \ CZPD
HOW 10 Order «ooeeeereresesmsese P.866
Combination of supply valve and release valve - P.868 SP
Construction ............................................................. P.869
Ejector unit «-oococeeeeee P.870
Valve unit . ZCUK
Suction flltel’ unit ...................................................... P.874
Vacuum pressure switch unit - P.875 AmJ
Dimensions/Without valve unit - P.881
Dimensions/Combination of supply valve and release valve AMV

Type K1, K3, K8, J1, J2 wroreererrerrnreneeenens P.882 to 893
Manifold specifications - P.894 AEP
DimenSions ««:-ooeeeeeresesssssssnnsssnn P.896 to 901 E

Vacuum Pump System \ —

elalel

HOW 10 Order «oooeeeeeeemsesssesmsss P.902  |gyipment
Combination of supply valve and release valve - P.904
Construction .............................................................. P_gos
Valve unit oo P.906

Suction filter unit/Vacuum pressure switch unit ---- P.907
Dimensions/Combination of supply valve and release valve

Type K1, K3, K6, K8 -wwoweeeeeeeeeeeeeesenesieieneneeen P.908 to 915
Manifold specifications -«-:-wweemememereeseeesieeeenes P.916
Dimensions ...................................................... P.918 to 923

\ Unit Construction \
Ejector system/Single, Manifold -:-:::wxoeeerereeeeeeee

Vacuum pump system/Single, Manifold - -
Manifold assembly from individual unit «---=--=-oeo

\ Made to Order \
EIE Combinations of supply valve and release valve-: P.930
1 High Noise Reduction Silencer Assembly - P.934

863 ®



Series ZX

For electronic components and precision components up to 100 g

Modular design
Customized application function through selection of module components.

Compact size and lightweight (120 g with complete unit);
well suitable for actuator mounting

Ejector nozzle size: 00.5 to 1.0 (Suction flow: 5 to 22 L/min (ANR))

Ejector system Ejector system

70

Filter

unit
Filter

Ejector unit .

Ejector unit

Single unit

@
[e]

—
[

Complete unit

Single unit
Bl
unit

=

:‘_,3:

S
zx100-000-F Zx100-000-E Complete unit I

Application Example

Chip bonding Chip mounting Picking & placing Escorting printed matter
< miniature components

® 864



(

Modular Components Introduction

T e

)

‘ Component equipment ‘ ‘

Ejector unit
Series ZX1

Exhaust release

Built-in silencer/Manifold exhaust
Individual exhaust port: (Rc /8, 1/8-NPTF)

Characteristics ‘ P.866 to 901 P.902 to 929
Nozzle diameter (mm) 0.5 0.7 1.0
Suction flow (L/min(ANRY)) 5 10 22
Air consumption (L/min(ANR)) 13 23 46
Maximum vacuum pressure —84 kPa

- e

N
=
=

Valve unit Component equipment Supply valve/Release valve
Function N.C., N.O.
Operation Solenoid valve/Air operated valve

Power supply voltage

3, 5,6, 12,24 VDC, 100, 110 VAC (50/60 Hz)

Vacuum pressure

WEEE

switch unit Series Vacuum switch Vacuum switch

Series zs Set pressure range 0to-101 kPa 0to—-101 kPa ZYD
Hysteresis 3% or less 0.5 kPa ZFD
Applicable pad diameter (mm) 2to 25 2to 25
Supply voltage 24VDC 24VDC

<8

Operating pressure range

Vacuum to 0.5 MPa

N
[}
=
=

HH

* Refer to pages 870 to 880 for detailed
specifications for each unit.

* Refer to pages 866 and 867 for ejector system
unit.

* Refer to page 894 for ejector system manifold.

* Refer to pages 902 and 903 for external
vacuum supply system unit.

0
Medtr’| Made to Order

(Refer to pages 930 to 934 for details.)

Manifold

Single unit

Manifold

* Refer to pages 924 to 927 f;

or units for replacement.

* Refer to page 916 for external vacuum supply system manifold.

Filtration 30 um
+« | Air supply port size M5 (Standard)/M6é (Semi-standard) AEP
=
5 -
ggﬁiﬂ pad connection M5 (Standard)/M6 (Semi-standard) HEP
Common Air supply port size Rc /8 'E‘:IIJT;?:EM
specifications E Exhaust port size Rc 18
c
g External pilot port size M5
Stations Max. 8 units

865 ®



Vacuum Module:
Ejector System

g UK
Series ZX . . UK

for CE/UKCA-compliant products. [Option]

How to Order

Ejector Valve unit Vacuum
unit N.C. type switch unit

Ejector | __ | Valve unit |__| Vacuum
unit N.O. type switch unit

CE/UKCA-compliant
Ejector unit nozzle dia. ‘ = ‘ Ld
. i —
g: 83 $$ - Eje.ctor exhaust ‘ Q ‘ CE/UKCA-compliant “‘
. 1 With silencer # Only for the model with
10| 1.0mm 20 Port exhaust Rcl/a solenoid valve or pressure
2T Port exhaust 1/8-NPTF switch
3@ | Common exhaust (Manifold only) Release flow rate adjusting needle/
Note 1) When port exhaust is applied to the manifold, pilot exhaust Bracket A
is dqne by common exhaust. Thus_, the exhgust port on the Lock nut Bracket A
manifold base should be open while operating. — =
Note 2) When the product is used for the manifold specification and Nil X °
common exhaust, the exhaust air of the operating ejector l PV/V port size L [ ] [ ]
releases may enter the vacuum (V) port of the non-operating Nil M5 x 0.8 M o %
ejector and be released if there are an operating and .
non-operating ejector. Select either the built-in silencer or Y M6 x 1 N X X
port exhaust for the ejector exhaust method. (Semi-standard)’|  @: Attached (Bracket A is shipped together) x: None
s " Note) « In the case where there is no release
Valve unit/Combination of supply valve and release valve Swhrpe;eglgsug'ts are valve, a lock nut s not available.
Refer to “Table (1)” on page 867. manifold. the PV « A bracket is applicable only when the
portis M'S x 0.8 with product is to be shipped on its own. When
Solenoid valve rated voltage aplug : a manifold is to be shipped, a bracket is
CEIUKCA-compliant ' not included with any of the models.
1 * Note)| 100 VAC 50/60 Hz — Vacuum switch electrical entry
/\ Caution 3 "N 110 VAC 5060 Hz | — Nil | Grommet Lead wire length 0.6 m
For DG 5 24 VDC [ ) L type Lead wire length 3 m
<For DC> -
6 12VDC [ ) (o Lead wire length 0.6 m
Connector
Grommet, L and M Plug Connector v 6VDC ° cL ypo Lead wire length 3 m
With surge voltage suppressor S 5VDC [ CN Without connector (Without lead wire)
Polarity protection diode R 3VDC ° * Refer to “Table (3)” on page 867 for part number of lead wire with connector. ‘
Red Air operated
® R N
& 3coi (K6, 8,43, 4, D3, D4) Vacuum switch unit/Filter unit CE/UKCA-compliant
Black Note) CE/UKCA-compliant products Nil None o
(-yo———— are not available for “1” and “3”. p - N
o « Applicable to plug connector only. E |Vacuum sw!tch (For general purpose)(ZSE2)(NPN) ‘th‘sucnon [ ]
With light/surge voltage suppressor |  when replacing a product that uses E55 | Vacuum swich (For general purpose)(ZSE2)(PNP) | fiter [ )
Polarity protection diode a connector assembly with rectifier, F Only suction filter —
Red

replace the connector assembly as :
Manual operation
well. (Table (2) on page 867)
. [ Nil_[ Non-locking push type | The filter mounted on the
Electrical entry | B | Locking slotted type | product is a simplified one.

L Lead wire length 0.3 m . When used in an
L plug Without lead wire Light/Surge voltage suppressor environment with a lot of

i% Coil

Match the polarity of the connectors

according to the (3 and ©marks on LN |connector (Applicable to DC only) Nil None dust, the filter is likely to be
the connectors. Do not interchange Lo type Without connector Z | With light/surge voltage suppressor clogged quickly. The use
the polarities to prevent the diodes or M Lead wire length 0.3 m S « | With surge voltage suppressor with the series ZFA, ZFB
the switching elements from M plug Without lead wi - « S is not available for AC. and ZFC is recommended.
becoming burned. MN  [connector| II' Ogjl ?aDvarel DC voltage (with surge voltage suppressor)

If lead wires are pre-connected, the type (Applicable to DC only) If the polarity is incorrect at DC (surge voltage suppressor), diode or

red wire is(®and the black wire is ©). MO Without connector switching element may be damaged.

<For AC> G Lead wire length 0.3 m * Refer to “Table (2)” on page 867 for part number of lead wire with connector.

Grommet | (Applicable to DC only) * Refer to page 894 for ordering the manifold.

H type |Lead wire length 0.6 m * Refer to pages 924 and 925 for ordering a unit for replacement.
(Applicable to DC only)

L and M Plug Connector
With light (JZ)

(~) Nil Air operated
Varistor” Coil Note) In the case of “K1” or “J1” (combination Made to
of supply and release valves), M type order | Made to Order ]
) plug connector can not be selected. (Refer to pages 930 to 934 for details.)

o 866



Vacuum Module: .
Ejector System Series ZX

Table (1) Valve Unit/Combination of Supply Valve and Release Valve (refer to page 868 for detailed specifications.)

Components Supply valve Release valve
Svmbol Solenoid valve Air operated Solenoid valve | Air operated | Exteral release Weight ZA
Supply valve | Release valve Y N.C. N.O. N.C. N.O. None | N.C. N.C. N.C. ZX1A None (9)
(V114) |(SYJ324)| (ZX1A) |(SYJA324) (V114) |(SYJ314)|(SYJA314) m
Solenoid (N.C.)|Solenoid (N.C.)|| K1 [ ] — — — — ® — — — — 79 |:
Solenoid (N.O.)|Solenoid (N.C.) K3 — ° — — — — [} — — — 112
Air operated (N.C.)| External release K6 — — L] — — — — — L] — 53 IM
Air operated (N.O.) | Air operated (N.C.)|| K8 — — — ° — — — ° — — 83 ZMA
Solenoid (N.C.) None Ji ° — — — — — — — — o 64 ‘ZQ
Solenoid (N.O.) None J2 — ° — — — — — — — ) 84
— Nil Without valve module

« Air operated valve: Controlled by external 3 port valve.
« External release: Directly released by external 2 port valve.

Table (2) Valve Unit/Valve Plug Connector Assembly

Table (3) Vacuum Switch/
Lead Wire with Connector

For DC:

SY100- 30-4A-
For 100 VAC:
SY100-30-1A-
For 110 VAC:
SY100-30-3A-
Without lead wire:

(with connector and 2 sockets only)

SY100-30-A

r— Lead wire length How to order
Nil | 0.3m If ordering vacuum module with
6 06m 600 mm or the longer lead wire,
10 - specify both vacuum module
1im and connector assembly part
15 | 1.5m numbers.
20 | 2m Ordering example)
25 | 25m ZX1051-K15LOZ-EC(-Q) --- 1 pc.
30 | 3m #SY100-30-4A-6----cenveneenees 2 pcs.
T-The asterisk (*) denotes the
50 | 5m symbol for assembly.
A Warning
When replacing a product that uses a connector assembly
with rectifier, replace the connector assembly as well.

Forzse2 ZS-10-5A~- Y,
Note) If ordering a vacuum switch :
with 3 m lead wire, specify Lead wire length ZFD
both the vacuum unit switch Nil | 0.6m
and the 3 m lead wire with 30 | 3m 7P
connector part numbers. 50 5m

Ordering example)

ZX1051-K15LO- ECN(-Q) -+ 1 pc.
*8Y100-30-4A-6 -
#78-10-5A-50

p
TThe asterisk (*) denotes th

<

b
gﬂ

‘ Eiector System/Recommended Model (The models below will have shorter deliveries.)

Nozzle Ejector Combination Solenoidvalve|  Lead wi Light/Surge } )
diameter Model At Supply valve | Releasevalve oter;m “{a ve| Lead wire voltage Vacuum switch | Vacuum switch
(mm) type (Pilot'valve) | (Direct operated) rated voltage |electrical entry|  syppressor unit electrical entry HEP
N.C. N.C.
05 2SI AEE (V114) (V114) Related
. N.O. N.C. Equipment
2O HEH 4EE (SYJ324M) | (SYJ314)
ZX1071-K15LZ-EC With (\’;‘1'?4) (\’;‘ﬁ"‘) Plug | With lightsurge ?:CZEJ;I Connoctor
0.7 e 24 VDC | connector voltage itch t
silencer N.O. N.C. type suppressor switc ype
ZAI0GLRSSMZES (SYJ324M) | (SYJ314) (ZSE2)
N.C. N.C.
& ZX1101-K15LZ-EC V114 V114)
: N.O. N.C.
SIS APHEE (SYJ324M) | (SYJ314)

ZX1000-K15LZ-EO

ZX1000-K35MZ-EO

867 ©



Series ZX

Ejector System/Combination of Supply Valve and Release Valve

Combination Symbol: K1

Release pressure
SUP (PD) port
Release valve

X

Pilot valve for supply

Application: This combination is used for
effecting control in accordance with
electric signals.

Release air output
(D) port

Pilot pressure
EXH (PE) port

Pilot pressure

SUP (PS) portX 1

Air pressure  [>———t—p

LD% Air pressure
output (A) port

SUP (PV) port

Combination Symbol: K8

PD X————

Pilot pressure D
SUP (PB) port for release

Piotpressure D>
SUP (PA) port for supply

PE

PS X—t—1
PV D>———1

Application: This combination is used for
effecting control in accordance with air
signals. Because the supply valve is
N.O., the pressure that is supplied to the
ejector is not interrupted during a power
outage; as a result, the state of suction
can be maintained. This combination is
used for preventing the workpieces from
dropping during power outages.

SNHE

How to Operate How to Operate —D>A
Valve | Supply valve (N.C.) Rell valve (N.C.) Valve | Supply valve (N.O.) Release valve (N.C.)
Condition Solenoid valve Solenoid valve Condition Air operated valve Air operated valve
1. Work adsorption ON OFF 1. Work adsorption OFF OFF
2. Vacuum rell OFF ON 2. Vacuum rell ON ON
3. Operation stop OFF OFF 3. Operation stop ON OFF

Combination Symbol: K3

PD X——

Application: This combination is used for

Combination Symbol: J1

PD X——

Application: This combination is used for

effecting control in accordance with effecting control in accordance with
electric signals. Because the supply electric signals. A vacuum release is
Release valve valve is N.O., the pressure that is | effected by the intrusion of air between
supplied to the ejector is not interrupted the silencer, pad, and the workpiece.
N >D during a power outage; as a result, the H’é M—>D This combination is used when there is
state of suction can be maintained. This Pilot valve | no need to accelerate the vacuum
combination is used for preventing the release speed.
workpieces from dropping during power for supply
Pilot valve outages. )
for supply PE
PE 1 PS X—s—1
PS X——— PV D——1
PVD——— . L T 4
SNFIEI% A
How to Operate > A How to Operate
Valve | Supply valve (N.O.) Release valve (N.C.) Valve | Supply valve (N.C.) Rel valve
Condition Solenoid valve Solenoid valve Condition Solenoid valve None
1. Work adsorption OFF OFF 1. Work adsorption ON —
2. Vacuum release ON ON 2. Vacuum release OFF —
3. Operation stop ON OFF 3. Operation stop OFF —

Combination Symbol: K6

Application: This combination is used for
effecting control in accordance with air

Combination Symbol: J2

Application: This combination is used for
effecting control in accordance with

PD X— f PD X—m " h
signals. electric signals. Because the supply
ﬁ' valve is N.O., the pressure that is
% 7\4 > supplied to the ejector is not interrupted
External release pressure D during a power outage; as a result, the
SUP (PB) port state of suction can be maintained. This
Dﬁé\—b D . combination is used for preventing the
Pilot valve workpieces from dropping during power
for supply outages. A vacuum release is effected
PS X——4 by the intrusion of air between the
| PE f silencer, pad, and the workpiece. This
PV D ; type is used when there is no need to
i accelerate the vacuum release speed.
Pilot pressure PS ]
SUP (PA) pgt o PVD——1 .
,,,,, > < H H
DIE S HEIX
A —> A
How to Operate How to Operate
Valve Supply valve Rell valve Valve | Supply valve (N.O.) Rel valve
Condition External 3 port valve | External 2 port valve Condition Solenoid valve None
1. Work adsorption ON OFF 1. Work adsorption OFF I
2. Vacuum release OFF ON 2. Vacuum rel ON i
3. Operation stop OFF OFF 3. Operation stop OFF —

® 868



Ejector System/Construction

Vacuum Module:
Ejector System

Series ZX

AL

|

Od{z

- e

u

N
=
=

& =
W o

Component Parts Replacement Parts ZQ

No. Description Material Note No. Description Material Part no.
1 | Poppet valve assembly — ZX1-PV2-0 g |Pilot valve _ ©  Referto ZH
2 | Release flow rate adjusting needle | Stainless steel ZX1-NA Air operated “Table (1)",(2)","(3)".
3 | Manifold base Aluminum 10 |Filter element PVA ZX1-FE ZU
4 | Vacuum switch — ZSE2 11 | Ejector assembly — © Refer to “Table (4)’.
5 | Valve unit — ZX1-VAOOOOOO-D-0 12 | Gasket — ZX1-FG ‘ZL
6 | Interface plate — (PV==PS=+=PD) 13 | Silencer element — ZX1-SAE
7 | Silencer case - 14 | Seal set — ZX1-PK

8Note)| Filter case Polycarbonate (7,13) | Silencer assembly — ZX1-HS2-01 (I : Nozzle diameter) YO

15 | Filter case assembly — ZX1-FK-PC*

Table (1) How to Order Pilot Valves

« Component parts

Filter case, filter element, tension bolt (including O-rings)

(Gasket (12 is not included.)

Note) Caution when handling filter case
1) The case is made of polycarbonate. Therefore, do not use with or
expose it to the following chemicals: paint thinner, carbon tetrachloride,
chloroform, acetic ester, aniline, cyclohexane, trichloroethylene,
sulfuric acid, lactic acid, watersoluble cutting oil (alkalinic), etc.

<

2) Do not expose it to direct sunlight.

No Components Model Combir|1atioré0f
Supply valve Release valve e roloaee valve

@ | Solenoid valve N.C. (V114) | Solenoid valve N.C. (V114) Z1-v114-0000 K1, J1

@ | Solenoid valve N.O. (SYJ324M) | Solenoid valve N.C. (SYJ314) | ZX1 -SYJ3; 40-0000 K3, J2

(® | Air operated N.O. (SYJA324) | Air operated N.C. (SYJA314) ZX1-SYJA3 ;4 K8

@ Air operated N.C. (ZX1A) ZX1A-0 K6

Table (2) How to Order Solenoid Valves

@ Supply valve (N.C.): K1, J1

Z1-V114-[5][L][Z] Q
Manual override

@ Supply valve (N.O.): K3, J2 Nil_[ Non-locking push type
B | Locking slotted type
Supply valve (N.O.)
Release valve (N.C.)
Rated voltage Manual override
1* | 100 VAC Nil [ Non-locking push type
3* | 110 VAC D | Locking slotted type
5 | 24VDC
6 | 12VDC Light/Surge voltage suppressor
V | 6VDC Nil [ Without light/surge voltage suppressor
S | 5VDC S* | With surge voltage suppressor
R | 3VDC z With light/surge voltage suppressor
= Applicable to plug connector only. + S is not available for AC.

Electrical entry

Connector (0.3 m)

LN

Connector (without lead wire!

Lo

Without connector

M

Connector (0.3 m)

MN*

Connector (without lead wire)

MO*

Without connector

Grommet (0.3 m)

Grommet (0.6 m)

# In the case of Z1-V114, M, MN
and MO cannot be selected.

For details, refer to the

Web Catalog of each model.
For details on the V100 series,
click here.

click here.

For details on the SYJ3000 series,

N
[}
=
=

Table (3) How to Order Air Operated Valves
ZX1A—M5

Port size

=
=
=

Pilot port/

M5x 0.8 External release port

C

=
m
e

Table (4) How to Order Ejector Assembly
ZX1-WD

i Ejector type
Ejector unit nozzle dia. (Exhaust type)

Assembly no. I
5 With silencer

07 Port exhaust Rc1/8
10 2T | Port exhaust 1/8-NPTF
3 |Common exhaust

E[=
g||m
a-]

Equipment

ey

0.5mm
0.7 mm
1.0 mm

N

+ An adapter should be attached to the assembly to be
used as a unit. PV port and V port can be connected.

jector
assembly

« Combination/ ZX1-WD[__]
* Used as a unit by attaching an

adapter/ ZX1-W

A\ Caution

Turning the vacuum release flow rate adjusting needle
clockwise reduces the vacuum release flow volume; the
needlevalveisfully closed whenthe needle stops
turning. Turning the needle 2 full turns counterclockwise
from the fully closed position renders the needle valve
fully open. The needle will fall out if it is turned more than
4 full turns.

In order to prevent the needle from loosening and falling
out, the release flow rate adjusting needle with lock nut

(ZX1-ND-L) is also available.
869


https://www.smcworld.com/products/en/get.do?type=GUIDE&id=V100-E
https://www.smcworld.com/products/en/get.do?type=GUIDE&id=SYJ-E

Series ZX

Specifications

Ejector exhaust type *

Unit no. ZX1-W05} T ZX1-W07% ) ZX1-W10} )
Nozzle dia. (mm) 0.5 0.7 1.0
Suction flow (L/min (ANR)) 5 10 22
Air consumption (L/min (ANR)) 13 23 46
Vacuum pressure reached —84 kPa
Maximum operating pressure 0.7 MPa
Supply pressure range 0.2 MPa to 0.55 MPa
Standard supply pressure 0.45 MPa
Operating temperature range 5 to 50°C

Code @ [ Built-in silencer--- -- For single unit and manifold

Code @

Port exhaust

-- For single unit and manifold

33g ZX1-WO10 (With bracket) Built-in silencer
Weight 259 ZX1-WO10-N (Without bracket)

379 ZX1-WO200 (With bracket) Port exhaust

29¢g ZX1-WO200-N (Without bracket)

= Codes (1) and (2) are corresponding to the suffixes in “How to Order” to indicate the ejector exhaust method.

How to Order

ZX1—W [05]

Nozzle diameter

i PV, V port size lBracket B

05| 0.5mm [ Nil M5 x 0.8 Nil [ With bracketB |
07 | 0.7mm Y [ M6 x 1 (Semi-standard) ] l N | Without bracket B |
10| 1.0 mm E]ector exhaust method
Silencer
2 Port exhaust Rc /g
2T | Port exhaust 1/8-NPTF
. . 1
Dimensions: ZX1-WO[,
Symbol 48* Port exhaust
46*
Silencer exhaust  Port exhaust EXH (EXH.) port
: 27 Rc1/8 (1/8-NPTF)
773 N ) »
0| T tol 4 % and
‘o
0 % o oS | j}
PD %] S| L > T
Iz : n
Bracket B 13 (33)
P D> qv (ZX1-0BB) 2x03.6
(Mounting hole)
Release pressure SUP (PD) port
M5 (or M6)
Plug Note 1) 1
R
Air pressure SUP (P) port -‘
M5 (or M6, PD 3 or @ S
B { — a ) ‘D ?_7/
o -
® /1 2P
© ~ Q
S . Vo -
©, 923
10 2x03 3 1% :: - %
(Mounting hole) \’\/A%cu[our T/I(GV)) port ;

Note 1) Remove the plug at external release. Note 2) Dimensions *: For mounting bracket B.

® 870

~
7

SVC




Vacuum Module
Ejector System Series ZX

Flow Rate Characteristics/Exhaust Characteristics

[At 0.45 MPa]
| ZX1-W05 | [How to Read Flow Rate Characteristics Graph|
Exhaust Characterlstlcs Flow Rate Characteristics
-93 3 i I -93 ZA
Vacuum pressure
— ~~ Pmax
— zZz
g / S \
x 67 20 cC||& o7 2
s FHIE \ g P ) ZR
7 -53 / 2318 -3 g l
g / 22 = :
& 00 g2\ U
g 0 7 ot sE| ! N
§ o i £55 = | ZMA
/] Sttty e | 22| 3
= —~ 13 \ a Qmax ZQ
Suction flow rate
0O 01 02 03 04 05 06 o 2 4 6 8 10 ZH
Supply pressure (MPa) Suction flow rate (L/min (ANR)) Flow Rate characteristics are expressed in
ejector vacuum pressure and suction flow. If
suction flow rate changes, a change in vacuum ZU
pressure will also be expressed. Normally this
’ ZX1 'W07 relationship is expressed in ejector standard ZL
use.
Exhaust Characteristics Flow Rate Characteristics In graph, Pmax. is max. vacuum pressure and
Qmax is max. suction flow. The valves are
-93 -93 specified according to catalog use. Changes in ZYD
vacuum pressure are expressed in the below
_ order.
-80 ?: 80 1.When ejector suction port is covered and ZFD
— = % . made airtight, suction flow becomes 0 and
s -67 203 < & 67 vacuum pressure is at maximum value
= ccll= (Pmax). ZPD
2 g, EE|le -3 2.When suction port is opened gradually, air
2 e 2213 can flow through, (air leakage), suction flow
a _l % s|| 8 increases, but vacuum pressure decreases. SP
s -40 Suction flow rate — S=lla -40 (condition P1 and Q1)
€ L —410 Eelle \ 3. When suction port is opened further, suction
3 —o7 / =213 —o7 flow moves to maximum value (Qmax), but ZCUK
& 7 I RAE vacuum pressure is near 0. (atmospheric
> /] 52|~ pressure).
-13 » < -13 When vacuum port (vacuum piping) has no |AMJ
\ leakage, vacuum pressure becomes
maximum, and vacuum pressure decreases
0 01 02 03 04 05 06 0 5 10 1 20 as leakage increases. When leakage value is |AMY/
Supply pressure (MPa) Suction flow rate (L/min (ANR)) :)hrgS:Sr’gies o suction flow, vacuum
When ventirative or leaky work must be |AEP
adsorbed, please note that vacuum pressure
[ ZX1-W10 ‘ will not bé high. HEP
Exhaust Characteristics Flow Rate Characteristics —
elate
-9 -9 ‘ . ‘ Equipment
" | - /\ Precautions
_ §z:/ P gg‘ _ \ e -
§ _g7 @i y*so 2| § g 1 Be sure to read before handling. 1
= \ =3
° & S EEll e I Refer to front matters 38 and 39 !
g -5 7Ty 22|z = ' for Safety Instructions and !
[l - [l
5 g2l 5 _ pages 844 to 846 for Vacuum
e -4 =8 g -4 | 1
3 / . {25 8 § 3 Eqmpment Precautions. H
3 Suctlonflowrate_ﬁ__ c 2|l © _o7 - o o Em Em Em Em Em Em Em oEm
g -7 ~" sg|l s \
- A I A\ Caution
Refer to the vacuum equipment model
0 01 02 03 04 05 086 0 10 20 30 40 50 sellecttllon og pggesngﬁ toz)?43 for the
Supply pressure (MPa) Suction flow rate (L/min (ANR)) selection and sizing of Series :

871 ®



Series ZX

Valve Unit: ZX1-VA

Model/Specifications

Unit no. ZX1-vAOOOOO-0(-Q)
Components Supply valve Rel valve
Pilot operated Direct operated
. Solenoid valve Air operated Solenoid valve |External | Air operated
Operation NC. | NO. | NC. | NO. | NC. | NC. |release| NC.
(V114) |(SYJ324M)| (ZX1A) |(SYJA324)|(SYJ314)| (V114) | (ZX1A) |(SYJA314)
Cv factor 0.17 Main valve 0.08 0.008 —
Supply pressure range of air
pressure SUP (PV) port 031006 MPa

Supply pressure range of pilot pressure SUP

(PA, PB) pors for supply and reease ! PV port pressure to 0.6 MPa

Max. operating frequency 5 Hz
Operating temp range 5 to 50°C
Interface plate symbol PV=>PS<+=PD

Note) Combination of supply valve and release valve: K4, K5, K6, K7, K8, J3, J4, D4
The supply and release valves of this product have a structure which uses the pressure of the air
pressure SUP (PV) port to operate them. Be sure to supply a pressure that is the pressure of the air
pressure SUP (PV) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for
supply and release.

Solenoid Valve Specifications

V114 I SYJ314, SYJ324M
DC 24,12,6,5,3
Rated volt v ‘ PP —
ated voltage V ™"AC 50/60 Hz 100, 110*
Electrical entry L plug connector, grommet [ L plug connector, M plug connector, grommet
Allowable voltage range -10to 10%
Power consumption W DC 0.35 (With indicator light: 0.4)
[100V 0.78 (With indicator light: 0.81)
Apparent power VA | ACS0/60Hz [}y 0.86 (With indicator light: 0.89)
Light/Surge voltage suppressor With or Without
Manual operation Non-locking push type/Locking slotted type

* Applicable to plug connector only.
Note) For details of solenoid valve specifications, refer to the V100 series in the Web Catalog.

How to Order /refer to page 866 for details.

zX1-V A[K1]5][L]Z - ]-

1 l
System CE/UKCA-compliant

: Manual
Ejector system override Release flow rate adjusting
[ B [Vacuum pump system needle/bracket Note)

+ Refer to page 906 for the .
specifications of ZX1-VB[J[]. PV/V port size

Combination of supply Light/Surge
valve and release valve voltage suppressor

Rated voltage Electrical entry

Note) For ZX1-VA (Valve unit): Bracket C
For ZX1-VB (Valve unit): Bracket B

® 872

O
2



Dimensions

O
Normally ‘,\\og‘@eé
closed 2

X

A: Release flow
rate adjusting g
needle with

(Needle fully open)
lock nut

Pilot valve for

Vacuum Module:
Ejector System

Series ZX

57.4 [64.2]*

37.4[44.2)

7%

11.5%
1

20

=

Manual override

8*

2x23.6
Bracket C (Mounting hole)

(ZX1-0BC)

PD X—————

Release valve
P—> D

Pilot valve for

supply
PE }

PS x—<+—14
PV ——t

Circuit diagram

supply Release valve Release pressure
V114 V114 output (D) port
Pilot pressure YTt MS (or M6) AP
EXH (PE) port Release flow rate 3 >
M3 i oo S8 TN TEe © 2
adjusting needle =~ N
) ~ L~
- - o . :
mic‘(" & " | 7 sl B K
\S (] &
T t Air pressure 2x03 :1:;: 1 | ® %
1 1] a7 SUP (PV) port  (Mounting hole) s
5 M5 (or M6)
Air pressure output (A) port
M5 (or M6)
Normally 76.9 [79.1]* PD X——y
open 56.9 [59.1]
20.3 [24.5] 7% ol Release valve
o bl —> D
@ s F - X Pilot valve for
N -y y; N supply
Manual override 8* I
PE 1
Bracket C 2x03.6 PS X%—< 4
(ZX1-OBC) (Mounting hole) PV D_‘:i
NHER
—>A
Pilot valve for Circuit diagram
supply Release valve ACDC Release pressure
(Normally open) (Normally closed) output (D) port
SYJ324M SYJ314 s :l M5 (or M6)
i\ B
Pilot pressure :
EXH (PE) port 3 \rw i
M3 Rel flow rate iT g
= P A - 2k
adjusting needle & ii ~ o 3
@ © kN ®
RIFIEN | ~ D
— [
I E * ) I—
Air pressure 2x03 3 1%
11| a7 SUP (PV) port  (Mounting hole)
5 M5 (or M6)
<2 Air pressure output (A) port

M5 (or M6)

Note) Dimensions *: For mounting bracket C, *x: For mounting spacer.

™

s g

N

YO

NN
0 || ™

<

N
()
=
=

> |[=
m| =
0| =

£E|| L
EE||m
Ellie -

[1: AC
873 ®



Series ZX

Specifications

Unit no. ZX1-F
Operating pressure range —100 to 500 kPa
Operating temperature range 5 to 50°C
Filtration efficiency 30 um
Element [ PVA
. 379 ZX1-F-00 (With bracket A)
Weight [ 209 ZX1-F-LI-N (Without bracket A)

Note) If not operated within the specified range of pressure and temperature, trouble may result.

i Bracket

Nil [ With bracket A |

How to Order

ZX1-F —g—
PV, V port size ‘

[ Nil_[M5x08 l
[ Y [M6x1 (Semi-s1andard)] [

N__| Without bracket A |
Dimensions
Symbol 32
[ ]
PV<] v P
T E
<
A
2 x R1.8* A
(Mounting hole) 10* 8.8*
03.6* 19* 4.8%
Mounting hole o
(Mounting hole) Fiter
I Vacuum pressure supply (PV) port J ‘Vacuum (V) port
% M5 (or M6) ! 2x03.5 M5 (or M6)
arf © (Mounting hole)
(AN ‘
@ T
&%} IN ¥
2 4 ) s oL Jéﬁf % .\>_é[\r: @
[{ N va i 7B\ um)_‘ B X} F 9
T - I Yy T —
[ S e’ ———a] Foo=— -
20 11 8.8 g * —tl
Bracket A -
(ZX1-OBA)

Note) Dimensions =*: For A mounting bracket.

Filter case
A\ Caution

1. The case is made of polycarbonate.
Therefore, do not use it with or
expose it to the following chemicals:
paint thinner, carbon tetrachloride,
chloroform, acetic ester, aniline,
cyclohexane, trichloroethylene, sulfu-
ric acid, lactic acid, water-soluble
cutting oil (alkalinic), etc.

2. Do not expose it to direct sunlight.

© 874

About this product

The filter mounted on the product is a
simplified one. When used in an
environment with a lot of dust, the filter is
likely to be clogged quickly. Select a
large-volume filter such as Series ZFA,
ZFB, ZFC.

O



Vacuum Module: .
Vacuum Pressure Switch Unit Series ZX

Vacuum Pressure Switch Unit/Vacuum Pressure Switch: ZSE2-0X

Quick response: 10 ms
Compact size: 39H x 20W x 15D Vacuum Pressure Switch

(except the connecting portion o Snitio; Zs'i?r-OX
ul |
of the standard type) Set pressure range 0to—101 kPa
Improved wiring: connector type Hysteresis 3% Full span or less ZA
. . . Repeatability +1% Full span or less
Uses a carrier diffusion Temperature characteristics +3% Full span or less m
semiconductor pressure sensor Voltage 12 to 24 VDC (Ripple +£10% or less )
Port size M5 x 0.8, M6 x 1 (Semi-standard) ‘ZR
Pressure detector Output Open collector 30 V, 80 mA
(A carrier diffusion semiconductor Indicator light Light at ON state
pressure sensor is used.) Current consumption 17 mA or less (24 VDC, at ON state) ZM
Operating temperature range 0 to 60°C
Max. operating pressure 0.5 MPa * ZMA

* When using ejector system, instantaneous pressure up to 0.5 MPa will not damage the switch.
Note) If not operated within the specified range of pressure of temperature, trouble may result.
Sensor chip

Wiring

ZSE2 connection

-15NPN Open collector -55PNP Open collector
Brown DC (+)

Brown DC (+)

Black OUT1

=R Black OUT1 3
ET 2 30 mA "1121024VDC é gomal  '112t024VDC AlS
S =
Blue DC (-) Blue DC (-) ZFL]
ZPC]

How to Order

¢ Filter case ZSE2 - OX -

<

Caution | ZCUK
1. The case is made of polycarbonate. PV, V port size Electrical entry

Therefore, do not use it with or expose [ Nil [M5x0.8 | Nil | Grommet (0.6 m) [40] AMJ

it to the following chemicals: paint [ Y |M6x1 (Semi-standard)| L | Grommet (3 m) [95]

thinner, carbon tetrachloride, Output specifications C | Connector (0.6 m) [35] AMV

chloroform, acetic ester, aniline, NPN Open collector CL | Connector (3 m) [75]

cyclohexane, trichloroethylene, sulfuric 15 | 25 v 80 mA CN_| Without connector [30]

acid, lactic acid, water-soluble cutting PNP Open collector [ ]: Weight (g) AEP

oil (alkalinic), etc. 55 | sveomA
2. Do not expose it to direct sunlight. HEP
¢ Vacuum pressure setting ’ How to Set Vacuum Pressure ‘ Related

caution Equipment
Observe the following precautions when -zilrsezssure setting trimmer selects the ON pressure "o usi(?g i switﬁh ot oo
setting the vacuum pressure. Clockwise rotation increases high vacuum set point. gﬁgjﬂ ge saosrﬁ)(t)i,ovnést e

possible. If

Lightly turn the screwdriver with your
fingertips.

To prevent damage to the trimmer
groove, do not use a screwdriver that has
a large grip or a tip that does not fit in the
trimmer groove.

setting the pressure lower than that,

switch becomes ON in case when

adsorption is not complete. If setting
Indicator the pressure higher than that,'syvitch
does not become ON though it is
absorbing workpieces properly.

Pressure setting trimmer

The filter mounted on the product is a

simplified one. When used in an environment Supply pressure

High vacuum

with a lot of dust, the filter on the unit is likely to Sel pressure —=
be clogged quickly. Use with the ZFA, ZFB and Urstable adsorpon
ZFC series is recommended.
) CFoon ]
Atmospheric 0
pressure

Refer to the pressure switch ZSE2 Series
catalog for the detailed specifications of
pressure switches.




Series ZX

Vacuum Pressure Switch Unit/Vacuum Pressure Switch: ZSE2-0X

] Guidelines for Use of Vacuum Pressure Switch Unit

System circuit for work Set pressure

Using multiple pressure switches with a

d ti To use for picking verification, set a vacuum  single vacuum source o
adsorption pressure that can pick the workpiece without fail.  If a single vacuum source is divided so that
Ejector style vacuum switches can be used on individual lines,
[ — ] the vacuum pressure might not come within the
~_~
> values set with the switches because the
pressure of the vacuum source fluctuates
depending on the number of picks and non-picks.
e Especially, because pressure fluctuation exerts a
Vacuum pump system great influence when picking with a small
Vacuum line - diameter nozzle, the countermeasures described
t Supply L L B> below must be provided.
line D> Vacuum pressure reduction valve (Vacuum adjusting valve)
2 port valve 2 port valve Vacuum line
AN Air suction . .
] filter Alr suction
filter
Vacuum pump style
Vacuum line )\ PJ’ )\ PJ’
d ) Vacuum Vacuum
pressure pressure
switch switch Vacuum pressure
switch
Pad
H}I} H}I} =1 Workpiece
¢ Adjust the needle valve to reduce the
pressure fluctuation between picking and
& & non-picking.
« Stabilize the source pressure by providing
a tank and a vacuum regulator.

g g * Provide a vacuum switch valve to
individual lines. Thus, in case of an error,
each valve can be turned OFF to minimize
the influences on other pads.

Dimensions
Grommet: ZSE2-0X-12 Connector: ZSE2-0X-13C
Pressure settin Indicator light Indicator light
Symbol trimmer 9 (Red) Pressure setting trimmer (Red)
A\l
N SBELE 8
q
T T
PV <H 0 L <] v 7 35.6 7
£ £
5 2
S o)
° ° Vacuum (V) port oo
o e
23 M5 (or M6) £2
3 8
3 g
w0
m 4l oo | . i
Vacuum pressure
SUP (PV) port
M5 (or M6) N N
MStorMe) 3 5 2 5
(Y]
@ [an] 0 = 0
%3 L %) {%(} @ @
‘& <} rl g &r b i
10 10 | 176 5.8 10| 176
Adapter *
2 x ©3.3 (mounting hole) 2 x ©3.3 (mounting hole)
® 876

O
2



Equipment

Related

877 ©



\)

© 878



Equipment

Related

879 @



)

® 880



Without Valve Unit

Configuration and combination

[Vacuum switch (ZSE2) |

Ejector
exhaust

Vacuum Module
Ejector System

Ejector unit - -
J \Fllter unit (F) ‘ o ?‘\);: * vacuum switch
N
Model EC P‘%\)?\ Spacer 1 (ZX1-S1) below,)
(For side mounting)
ZX1000 F 29.2 Port exhaust PDx
R =1 R (JNPTF) ] X
- B / % EXH (EXH) pot < 4 W\hsxleneer Pnnexhaust
i A i : 7
Vacuum switch (ZSE2) . ooy Lo ctal
ZX1000-EO : Yl L] iy A :
| 0
Pressure setting trimmer ;ij
2xR1.8° 3.6 416
(Mounting hole)* . (Mounting hole)
Release pressure 1 10,
SUP (PD) port 19* 13.6*

ME(OrME)  yacuum switch (ZSE2)
Plug ™
Vacuum (V) port MH
M5 (or M6)
mm Filter 1 mi
Air pressure SUP ‘ 2x 3.3
(P) port 0 (Mounting hole) ©|in
M5 (or M6) D g | 8 Blg
[to)
d <j@ © g -- © /&\ s H
A 25 - (& AP %
jicl © 3 3 1N P =
— — s J —
10| 17.6 4.5 .
10 x
= 546 M
57.1 Bracket A
(ZX1-OBA)

Note 1) Remove the plug at external release.

Filter unit (F)
ZX1000-F

_—
@l’T‘\'ﬂ \T"T]
7 ; T
W) A | | o =] =
g w ™| | w
% | Il
I~ P
i
2 xR1.8* 03.6*
(Mounting hole) (Mounting hole)
1% |[10% 8.8*
. . 19* 4.8*
Ejector + Silencer
\ Filter
\\
. ‘ Vacuum (V) port
' /| 2xoss MsorMe)
(Mounting
‘,3 hole)
!

E

Note 2) Dimensions *: For mounting bracket A =x: For mounting spacer 1.

1
i
o

62*

15.5%

A

10-®p

v
£

10.2
18**

(B

w0
[+

7= [ las=F%

Bracket A
(ZX1-OBA)

Series ZX

Circuit diagram
(Circuits other than those with

are shown as

Vacuum
switch (E)

Filter unit
[——ZX1-F 8

mEEEEE R

N

YO

N[N
. I e n |
O

||| NA
5 m|= &2
BISIE|IE|E|™

Equipment

881 ©



Series ZX

Valve Unit: Type K1

Ejector

| .

exhaust

S @2
Configuration and combination [Vacuum switch (ZSE2) FrGS
[Ejector unit]+| Valve unit (K1) |+|Filter unit (F) O
) )
Without switch and filter \\g;e%\“‘?
Model EC
ZX1000 — K1OOOO —  FO
Nil
PDX——— Circuit diagram
{ (Circuits other than those with vacuum switch
Release valve é are shown as below.)
Pilot valve |
for supply EXH. EXH. Vacuum
PE A Withsilencer Portexhaust| switch (E)
i ‘Bl 18! | zsee
psx—t—4 L&) LLJ { w
PVD—i—1 | ‘
RSHES] ‘ sy
MR
Filter unit
TZXLFW
Vacuum switch (ZSE2) L ——tav
ZX1O0O0-K1OO00o-ed L
Without switch
and filter
Port exhaust Spacer 1 (ZX1-S1) o
(For side mounting) ’7 “ Qv
Rc1/8 (1/8-NPTF) 78[84.8] L]
EXH (EXH.) port 29.2 /
- Manual override —-- /
‘«’j‘} Q (Non-locking) !jj‘% an / P
S R , . i -
= SR 7
2 AL LT T oo Bl UL | 1
o | m . - o A <+| w0
3@&?)@ alif \ 3@&%)&% ol \
SRy Y]
ii %;\}1 Ejector + Silencer an 4,&
41.6 2 x R1.8* 03.6*
A: Release flow rate (Mounting hole) (Mounting hole)
adjusting needle * «
with lock nut ! 10 176
19* 13.6*

8

Pilot valve for supply Release valve

V114

Release flow rate
adjusting needle

(Needle fully open) H

28

Pilot pressure EXH (PE) port
M3

(Recommended fitting: M-3AU-3)

1 M5 (or M6)

Air pressure SUP (PV) port

Note) Dimensions :: For mounting bracket A *x: For mounting spacer 1.

© 882

Vacuum switch
AC DC =5 ZSE2
R I
pd==
PN
o]
ol ©
. 7| &
o @
e} N Y
=} =
[&&] = I 4—@ ote
il e
2x23.3 :1:(;: 176 3 7 /7415 Tﬁ
- ] - acuum (V) po
(Mounting hole)76 Bracket A M5 (or M6)
(ZX1-OBA)
[]:AC



Vacuum Module: .
Ejector System Series ZX

A: Release flow rate adjusting
needle with lock nut

Spacer 1: ZX1-S1

8
(Needle fully open)

Filter unit

- e

ZX1000-K10000-F eralied L :
(Mounting hole)
This is inserted between a wall and a switch
2 i_r % when the switch is mounted on the wall.
IMA
2 xR1.8* Z
(Mounting hole) 93.6* (Mounting hole) Q
AC DC 1* 887 ZH
4.8
Zu
E‘i Filter E
‘ /]
‘ AN
w © ZF]
- ©
2 3 2P
Bracket A ): 11 /8.8 2x@3.5
(ZX1-OBA) (Mounting hole) SP
ZCUK
AMJ
Without switch and filter .
ZX1000-K10000 69.4 [76.2]" AMV
50.4 [57.2]
T 7l AEP
elli] F HEP
=1 || % s N N
BBl 1y _ Related
Bracket B le Equipment
(ZX1-OBB) 2% 03.6

(Mounting hole)

Vacuum (V) port
M5 (or M6)

17

&
50
38**
76.7 [78.9]*

35.4*

=5
38

1
| %
A

8

2x03 =
(Mounting hole) 8 1

5.4*

883 ©



Series ZX

Ejector
exhaust

@Q‘\QO(‘
Valve Unit: Type K3 g
95\)‘0
. ‘,_\\0\?‘;@

Configuration and combination Vacuum switch (ZSE2) B
Ejector unit] +| Valve unit (K3) | +[Filter unit (F) . Q@e;jf%

Without switch and filter X"
Model EO
ZX10OO — K3OoOooo— F

Nil PD ¥—— Circuit diagram

(Circuits other than those with vacuum switch

Release valve|
are shown as below.)

Pilot valve EXH. EXH. Vacuum
for supply With silencer Port exhaust| switch (E)
PE - PN
: H T [ Zse2-
psxa i L 1B L] { w
PVD>—s—1 ‘ X!
SHEIR | s gy
Filter unit
v h (ZSE2) i ZXOLF | .
acuum switcl 2 ! !
\%
ZX1000-K300O0-EC R
Without switch
Port exhaust Spacer 1 (ZX1-S1) and filter
(For side mounting) ﬁ’j
97.5[99.7] —<V
Rc1/8 (1/8-NPTF) 29.2 / L
22.3[24.5 [
S
@ T ® - K =
Q)
= ® 2 4 ©| o © Q W//[A J m of ~| ~
0 - = 0 | < o
2 U by o — 7K | N
W ﬁ Manual override F‘_l ‘ﬁj
[ e *;:\
- LAY
W16 2xR18 03.6"
(Mounting hole) (Mounting hole)
A: Release flow rate adjusting 1 10‘* 17'6?{
needle with lock nut 197 13.6™

B

(Needle fully open)

Pilot valve for supply Release valve
(Normally open) Normally closed AC DC
SYJ314

SYJ324M
t==o Vacuum switch
§ H ZSE2
T . -
L = = I
BB [@ - ' 7 N
N ‘ -
Release flow rate | - >
=P =FD ot — T i
‘/ adjusting needle 8. hr I o|w© -
e © olls 3 g §
© © -
Q wn
9@ © - .
Slop /8] & &l @ oA S
1O [SAl A o @ |
—A | NE— I TY e —
Pilot pressure EXH (PE) port ; a7 '\A/I'g ;zcr)p:s’alé;e SUP (PV) port % Bracket A ; . e
M3 . 10|, 17.6 | (Mounting hole) (ZX1-0BA) -5 Vacuum (V) port
(Recommended fitting: M-3AU-3) 5 M5 (or M6)
Note) Dimensions =: For mounting bracket A :x: For mounting spacer 1. []: AC

© 884



Vacuum Module:
Ejector System

Filter unit (F)
ZXOOO-K3OOOO-F
86.9 [89.1]
[ @]
© .
q% Pl (1 gl
e ® &l A
‘L‘. f‘
M
2xR1.8* 23.6*
AC DC  (Mounting hole) (Mounting hole)
s l 1+ [10%] | | 8.8*
o 19* 4.8*
j - E‘j Filter
i /
I
L,
& &Ll
fF* R

11.18.8| \2x23.5
(Mounting hole)

Without switch and filter

ZX100O0-K3OOOO

88.9 [91.1]*

68.9 [71.1]
© T

ool | 51,
had 7,

o1 Ly

Bracket B Lai

(ZX1-0OBB)
AC DC 2x03.6
r (Mounting hole)

Series ZX

Spacer 1: ZX1-S1

(Mounting hole)

- e

® &
| A

o |8 ® | .
; [+2] R

P o S e
= 8 | @R
&K

2x023 ::: — T

1 Vacuum (V) port

(Mounting hole) M5 (or M6)

N
=
=

WEEE

N

YO

N
-
|:|

N
o
]

<

N
[}
=
=

HH

=
m
e

E[=
g||m
a-]

Equipment

885 ®



Series ZX

Valve Unit: Type K6

Configuration and combination [Vacuum switch (ZSE2)

Ejector unit] +| Valve unit (K6) |+|Filter unit (F)

\Without switch and filter

Model EO
ZX10O0d — K — F
Nil

Pilot pressure
SUP (PA) port

Vacuum switch (ZSE2)
ZX1000 - Ke-EO

Port exhaust

External release
air supply

Ejector
Pilot exhaust
air supply =)
|
&
- Q\Qo
P>
o
=)
(@
Q\\iﬁ\?@
@
O
_\‘Q@?Q\Qo
P~6\)?

Circuit diagram

PD X— (Circuits other than those with vacuum switch
External release w, are shown as below.)
pressure
SUP (PB) port EXH. EXH. Vacuum
With silencer Port exhaust| gwwitch (E)
e ZS EOnecs

Spacer 1 (ZX1-S1)
(For side mounting)

5.

[

Filter unit
B ZX1-F 7

™

Without switch
and filter

]
ey

—

78
29.2
Re1/8 (1/8-NPTF) o | 13
EXH (EXH.) port M5 |
Pilot pressure SUP & ]
(PA) port for supply Note 2) L[ o %
o iy =
[&@ 7@
© oi ’%\r ////A ol x|
| 1 ) IR
1R Z
M5 | |
External release pressure B AR
SUP (PB) port Note 2) -
Ejector + Silencer, 03.6%

(Mounting hole)

2xR1.8*
(Mounting 4 10* 17.6%
hole) - -
19* 13.6*
A: Release flow rate adjusting
needle with lock nut
Vacuum switch
8 ZSE2
(Needle fully open) (m
([ i
Release flow rate = ’ i
adjusting needle ‘
[MFr=gs=P0r]), TEEEF =
=4 o ! 9 &
= 3 S g
ot ° e
ol ‘ 2 .
ALYk L& ® i A r L
Ho N : A3 © R -
— == . =-- | AP | a——
Air pressure SUP 0
Pilot pressure EXH (PE) port (PV) port © 45 Vacuum (V) port
M3 4.7 M5 (or M6) 10,17.6 Ve (o Mg)) p
(Recommended fitting: M-3AU-3) 5 76 2x03.3 Bracket A
(Mounting (ZX1-OBA)
hole)

Note 1) Dimensions *: For mounting bracket B *x: For mounting spacer 2.

Note 2) Combination of supply valve and release valve: K5, K6, J3

The supply and release valves of this product have a structure which uses the pressure of the air pressure SUP (PV) port to operate them. Be sure to supply a
pressure that is the pressure of the air pressure SUP (PV) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for supply and release.

©® 886



Vacuum Module: .
Ejector System Series ZX

Filter unit (F)

ZX1000-K6-F
S r1(ZX1-81 .
67.4 (FFZfrC:ide r(nounting;) Spacer 1: ZX1-S1
2|13
¢ ZA
&~ W@ t f ]
2o TG Jass C
@[l
o ZR
R
2 xR1.8* 23.6* ZM
(Mounting hole) (Mounting hole)
1% ||10* 8.8*
19* 4.8* ZMA
Filter ZQ
o i ZH
/
| Zu
\ ©
G@{El IL
11_/8.8 2x03.5 @
Bracket A “ﬂ‘ﬂ“""”g
X108 o) ZF0
ZP]
sP_
Without switch and filter 7CUK
ZX1000-K6
69.4* AMJ
49.2 )
2] AR AMV
] g U5 ¢ ?; . AEP
5"
lleo- 022 4
: [ HEP
Bracket B
(ZX1-OBB) 2x03.6 Related
(Mounting hole) Equipment

~
I "l o ® | g
o Bl
~ P 7N
- s =
2x03 s+ Ty
(Mounting hole) [

Vacuum (V) port
M5 (or M6)

887 ®



Series ZX

Air supply
for release Ejector
valve pilot 4 exhaust
Air supply | § :
for supply
valve pilot s
| Qo“
H o - Q)
Valve Unit: Type K8 et
Nia
\Ge%
Configuration and combination [Vacuum switch (ZSE2) | QONET
T T i n = <
[Ejector unit| +| Valve unit (K8) |+[Filter unit (F) | <N
A 3 5 2 o
\Without switch and filter | ng@\‘\g
2
Model EO
ZX100d0 — K8 — F
Nil o
PD % Circuit diagram
Pilot pressure SUP B[ t (Circuits other than those with vacuum switch
(PB) portfor release are shown as below.)
Pilot pressure SUP >-fa
(PA) port for supply EXH. EXH. Vacuum
PE - With slencer Port exhaust | switch (E)
| il Tal | zse2-
ps x4 L2 Ll { }
PV e A
LT \
L ﬁ” Y
Filter unit
i - ZX1-F -
Vacuum switch (ZSE2) [ | y
ZX1000O-K8-EO :
Without switch
Spacer 1 (ZX1-S1) and filter
Port exhaust M3 (For side mounting) ﬁj
Pilot pressure SUP (PA) 78.6 —qV
port for supply Note 2) 29.2 LJ
Rc1/8 (1/8-NPTF 3
EXH (EXH.) port
s Pressure NS
"g ;! @ setting trimmer ﬁ} w‘ ¥
S Lets_coal | SN
@ Qe @ Ui O 15l5ls
O <|
4 N P Lg% [« 1 S
M3—/ L
Pilot pressure SUP (PB) Pl
port for release Note 2) y
416 Ejector + Silencer (036°
(Mounting hole)
2xR1.8* . .
(Mounting hole) 1~ 10 17.6*
19* 13.6*
Release valve A: Release flow rate adjusting
(Normally closed) needle with lock nut
Pilot valve for supply (Air operated
(Normally open) SYJA314) )
(Air operated 8, H Vacuum switch Mh
SYJA324) (Needle fully open) ZSE2
Manual override H |
(Non-locking) r Mdjﬂm Y
T
t 0 g |0 in
2 8 8|53 y 8
@ w|® \Release flow rate f .
alf w6 djusti di -- ] 1
CH : adjusting needle [ 5 © fn P »99
H / 0
— I ) - S—
Al P P %
Pilot pressure EXH (PE) port (FI’I;/l;r;:rsture Su 2x03.3 10| 176 | © 4.5
i - Bracket A
M3 __ 1 . M5 (or M6) ﬂ\g%;mlng 3-OBA Vacuum (V) port
(Recommended fitting: M-3AU-3) 5 ( ) M5 (or M6)

Note 1) Dimensions #: For mounting bracket A ::: For mounting spacer 1.
Note 2) Combination of supply valve and release valve: K4, K7, K8, J4, D4

The supply and release valves of this product have a structure which uses the pressure of the air pressure SUP (PV) port to operate them. Be sure to supply a
pressure that is the pressure of the air pressure SUP (PV) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for supply and release.

©® 888



Vacuum Module: .
Ejector System Series ZX

Filter unit (F)

ZX1000O-K8-F
67.8
- Spacer 1: ZX1-S1
lorm ol |+
I
SR o
12 7 [SURSIYS)
MIRPN1 7/ Basd
\.),/
2 xR1.8* D4 ZR
(Mounting hole) 23.6%
v J10] | | aer (ounting M
Tor - hole)

_Fitter IMA
= ‘ |:ZQ
igN ZH

| ZU
p 3
Adl L
1188 oo
hole) ¢ ZYD
Bracket A
(ZX1-OBA) ZFD
ZP0]
Without switch and filter SP
ZX1000-K8
702* LUK
50
Iﬁ o AMJ
e F 1. AMV
o9 Vi//ﬁ Y ]
e e EL AEP
Bracket B
(ZX1-OBB) 2x03.6

(Mounting hole)

E[=
g||m
a-]

Equipment

i Vacuum (V) port G
i M5 (or M6)
{
i - —
{ i 2 I
Bl Lo\ 3
4 ~ 3 e
g 5]
® ﬁle:) 0,
2x03 3 i - T %
(Mounting hole) ]

889 ®



Series ZX

Ejector
exhaust

&
QO
o“\\\“
Valve Unit: Type J1
@
é\\i\,‘\%@
Configuration and combination [Vacuum switch (ZSE2) | © Ot
O
[Ejector unit|+| Valve unit (J1)|+|Filter unit (F) P“E“;?Nc
\Without switch and filter |
Model EOC
ZX1O0oo — J1ioood—  F
Nil S
PDX*— Circuit diagram
(Circuits other than those with vacuum switch
are shown as below.)
Z
EXH. EXH. Vacuum
‘ With silencer Port exhaust | switch (E)
PE < E [al [l
| sk :‘r: - ZSE2-
ps x4 L) Ll { l
Py S
>l L wlay
m—an
Filter unit
I ZX1-F 8
—P—v
L
Without switch
and filter
Vacuum switch (ZSE2) F j v
ZX1000-J10000-EO L]
Spacer 1 (ZX1-S1)
Port exhaust (For side mounting)
Rc1/8 (1/8-NPTF 78[848]
c1/8 (1/8-NPTF) 292
Manual override
)
A o S5 RAR
(N Y] 7 ORIV
© e
Ejector + Silencer,
416 ___036"
- 2 x R1.8* (Mounting hole)
(Mounting hole) 1+ | [1g* 17.6*
19* 13.6*
Pilot valve for supply HlH
Vii4 Vacuum switch
ZSE2
Rel flow rate ’ | B
TE=T| / adjusting needle || ‘ Q|2
b 10 S
= ‘ 3 I
© =) g
Q= ® re] ‘ 5
Sloy /= OL) & }@@ﬂ @ = 2 @% i £
N 2 Aid © e | -
N ) ”:AirpressureSUP(PV) pot | 2X@33 [10] 176 P j N
Pilotpressure EXH (PE) port /1 || | 4.7 "\ M5 (or M) (Mounting hole) : Bracket A 45,1 |\ Vacuum (V) port
M3 76 (2X1-0BA) M5 (or M6)
(Recommended fitting: M-3AU-3) =
[1: AC

Note) Dimensions =: For mounting bracket A :x: For mounting spacer 1.

©® 890



Vacuum Module: .
Ejector System Series ZX

Filter unit (F)

ZX1000-J10000-F
eralr2) £ Spacer 1: ZX1-S1
,V//i?@ (=Y R R
g% ‘ <| o

2xR1.8* RN

10* 8.8* (Mounting hole)

19* 4.8*

C‘j Filter
T

- e

N
=
=

WEEE

& B2
e JA(R
11 18.8| \2 x 3.5
(Mointing hole) ZFD
7P
P
Without switch and filter ZCUK
ZX1000-J10000
69.4 [76.2]" @
50.4 [57.2] .
— RN ] AMV

7 Tﬂ“‘,
Ul ¥ =1 AEP
q@, )®% e
Bracket B le HEP
(ZX1-OBB) 2% 03.6 Related
(Mounting hole) Equipment
Vacuum (V) port
M5 (or M6)
{
~ o T
Tl G i
0 % A ©
}: A @
S 8 R
®\§Q’£») @,
2x03 sl L
(Mounting hole) ;

891 ®



Series ZX

Ejector
exhaust

Valve Unit: Type J2

o
?\\"‘\E‘\"@
Configuration and combination \Vacuum switch (ZSE2) \ b .
. . . - - N
[Ejector unit] +| Valve unit (J2) |+[Filter unit (F) | (T
- " " »
\Without switch and filter | S
Model EO
ZX100O0 — J20000—  F
Nil PD % Circuit diagram
(Circuits other than those with vacuum switch
are shown as below.)
. 4
EXH. EXH. Vacuum
PE With silencer Portexhaust| switch (E)
| el Tal | zse2-
PS x—<%—¢ ) Ll1J { l
PV TR : :
L : L ; v
Filter unit
[ 2X1F )
Vacuum switch (ZSE2) o
ZX10OOOo-Jd20000-ed . .
Without switch
and filter
o
Port exhaust Spacer 1 (ZX1-S1) L—j \
(For side mounting) o
Rc1/8 (1/8-NPTF 975 199.7]
c1/8 (1/8-NPTF) 29.2
22.3[24.5] .
Qi: Pressure setting trimmer & *
w0 *
© 77) @
@77 3 Q ///ﬂ m Q e
i [l < <| 0
st overite/ | 1Eg ] Yok 1o
"o Ejector + Silencer, 03.6"
- 2 x R1.8% (Mounting hole)
(Mounting hole) 1| |l10* 17.6%
Pilot valve for supply 19 136"
(Normally open)
SYJ324M
ﬁAC DC
; .- j Vacuum switch
I ZSE2
A U= T }
5 -
® -
F=r=rm] = — — o)
=, 8ls i o2 2 o
n 5 ~
© Release flow rate { ! © 2
Q| vl @ ' O] adjusting needle %
N - p
SEEE LA ra B S A
1o SRl A © Q¥ P -
f p— N, - © T e =
Pilot pressure EXH (PE) port 1 47 Air pressure SUP (PV) port 2x03.3 w0l 176 © 4.5 kS
b 5 M5 (or M6) (Mounting hole) - Bracket A Vacuum (V) port
(Recommended fitiing: M-3AU-3)  —s-—=— (ZX1-OBA) M5 (or M6)
Note) Dimensions =: For mounting bracket A =x: For mounting spacer 1. []: AC

® 892



Vacuum Module
Ejector System Series ZX

Filter unit (F)

ZX1000-J20000-F
86.9(89.1] 3 Spacer 1: ZX1-S1
‘ ZA
j %Jéi/// N <o
B ZR
2 x R1.8* “ 23.6% (Mounting hole) ZM
AC DC (Mounting hole) (Mounting hole)
8} 1 [0z 8.8* ZMA
—————— 19* 4.8*
ZQ
j E‘q Filter
| = ZH
] | n
. | o 7L
[& &Ll
11 /8.8| \2 x 23.5
(N>I<0Znting hole) ZFD
ZP]
Without switch and filter SP
ZX1O0OO-Jd20000
88.9 [91.1]* ZCUK

EN e I -
i ’%:@’// i
Bracket B Lai

(ZX1-0BB) /2 x 03.6
(Mounting hole)

[3
®
®
\,
ad |l TE
11.5%
20* 1%
JE
= ||

=
m
e

HIE=
g||m
a-]

Equipment
[©
G
y o g ® |
( i © © ¢
,5 ; ° Sl ke
o~ 8| R
3 @pry ®
2x03 3 1* Vacuum (V) port, <
(Mounting hole) M5 (or M6) 0

893 ®



Series ZX

Specifications
Max. number of units Max. 8 units
Port |Supply port [PV] /s (Rc, NPT, G)
size | Exhaust port [EXH] /8 (Re, NPT, G)
Weight 1 station: 114 g (45 g per additional station)

Note 1) PD port: Blank

Note 2) Exhaust air from both sides for 4 or more stations of ZX1103 manifold.

Air Supply
Manifold Left side Right side
Supply port location Port PV PS PV PS
L (Left) O [ ) [ ] [ ]
R (Right) [ ] [ ) O [ ]
B (Both sides) O [ ) O [ )

(O:Supply @: Plugged (EXH port is released to atmospheric pressure.)

Note) Blank plugs are attached to all ports of each valve unit.

How to Order Manifold

<Manifold base>

ZZX1| 06

R

Stations 1 1 Supply port location ")

01| 1 R _|Right side (PV port on the right side)
02| 2 L |Left side (PV port on the left side)

8 i B |Both sides (PV port on both sides)

08 8 +1 Viewed from the front side of valve unit,

confirm the port location on the right
and/or left side.
%2 EXH ports are released to atmospheric

Thread of supply and
exhaust port

Nil Re pressure in both sides.
F GiNote) Plugs are always attached to PD ports
T NPTF and all ports of the valve unit.

Note) G thread
The thread ridge
shape is compatible
with the G thread
standard (JIS B 0202),
but other shapes are
not conforming to
1SO16030 and
1ISO1179.

(Ordering example)

ZZX106-R----1 pc. (Manifold base)
*ZX1101-K15LZ-EC(-Q)----5 pcs. (Vacuum single unit)
#ZX1-BM1----1 pc. (Blank plate)

/\ Caution when ordering manifold

| e ey |
1 The asterisk denotes the symbol for assembly. 1
1 Prefix it to the ejector part numbers to be mounted. When it 1
1 is not added, the manifold base and ejector are shipped |
1 separately. _:

o o o o o mm e mm e m mm Em m Em e o e o o

® 894

<Individual spacer>
Use the individual spacer when separating the supply and pilot pressure
exhaust ports of the manifold ejector.

ZX1-|R1|-

Individual spacer Arrangement

R1 (First station from the right end of
: the valve side is station 1.)

R16 Nil All stations

#Refer to the 1 Station 1 only
individual spacer. g :

(Ordering example) 8 Station 8 only
If installed on station 1 and *When spacers are mounted alternately,
station 3: specify them together.

ZZX106-R - 1pc

3 +*When retrofitting, 3 pcs. of M2.5 x 32 (for ZX)
«ZX1101-K15LZ-EL(-Q)

are necessary. A dummy spacer (ZX1-R16)

...... 6 pcs must be mounted on all stations on which
*ZX1-R1-1 individual spacers are not mounted in order to
+ZX1-R1-3 prevent interference caused by unevenness
*ZX1-R16 (Dummy spacer) in the valve unit.

~~~~~~ 4 pcs.

About individual spacers

* Manifold supply or valve unit supply can be selectable for each port. In the
table below, ports with the symbol } mean that they are manifold supply,
while others are individual supply from the valve unit.

* Symbols in the table below are printed on the surface of individual spacers.

No. Symbol No. Symbol
ZX1-R1 | R1 ZX1-R 9| R 9 [PV
R2 | R2 1PE R10[ R10 } PV 1PE
R3 | R3 1PD R11| ri1 {PV_ }PD
R4 | R4 1PDIPE R12| R12 {PV___ IPD}PE
R5 | R5 PS R13| R13 JPV]PS
R6 | R6 ps _ IPE R14| R4 }PViPS  }PE
R7 | R7 PSIPD R15| R15 JPV{PS}PD
RS | R8 PsipPD IPE R16] R16 4 PV{PS {PD }PE




Vacuum Module: .
Ejector System Series ZX

Manifold/System Circuit Example

When not using individual spacer When using individual spacer
(When using ZX1-R1 and ZX1-R16)

N
=
=

He =

PV: Air pressure SUP port

PS: Pilot pressure SUP port
PD: Release pressure SUP port
PE: Pilot pressure EXH port
EXH: Common EXH port

N

YO

<System circuit example> <System circuit example>
PV EXH PV EXH
VPSAPD VPSAPD
M ZCUK

PD X PD i

AMV
AEP
R
; NN\ NN\
PS X—~———P— + PS Nt 3+ HEP
" b E N R E = Relatt
LD%\JU\J D—<v LDEQJ R H—av Equipment
PD LA Dummy spacer ZX1-R16 i -
@ PD S
PE E NP\ PE QE
; N\ N N b by sel At
PS %—<—+ M4 44 ; I\
PV < PS < Py ¢
b ||| 8 | [ " T | T
L <} 3 '1
T G—v ENRIER o
A v et et Al <1V
PS PD Individual spacer ZX1-R1 /~ A XV
PV EXH PS_PD
PV EXH

895 @



Series ZX

Ejector System Manifold

A: Release flow rate
adjusting needle with
lock nut

8
(Needle fully open)

Release valve (SYJ314)
(Normally closed)

Pilot valve for supply
(SYJ324M)

(Normally open)

Manifold base

Manual override
(Push and turn the
locking type override.)

Manual override

M5
Pilot pressure SUP (PA)
port for supply Note 2)
M5
External release pressure
SUP (PB) portNete2)

Adapter D

Individual spacer ZX1-R1

Pilot valve for supply (V114)

(Normally closed)

Release valve (V114)
(Normally closed)

L3

Release flow rate adjusting needle

24 x 5.5 (Mounting hole)

116.3 _EXH (EXH.) port
58.9 29.5 Rc1/8
10| 284
|
22.3 32
16
&
o ek [ [T AN of
~_| el e<tte = bt <l =
o~ —¥ s oo
| < ‘_e — “wi s COT
b TSN i o
- > A Pressure setting trimmer
S U] | s 4149 Vacuum switch
B 7 ZSE2
& @ Filter
©
44 | _Adapter B
22 | 30 Silencer + Ejector
37.4 47
57.4

s8]
el LT | T lger
T o A g T M| ¢
4 N —— ol ATY & > o
@ L ® ®]_[,\-'g]co & il ‘XKI gJ
Pl Do Bl ] =) : © ‘ °l° :
Individual air pressure SUP (PV) port 25 3‘7_4 3
20 MS (or M6) ‘ " Common EXH (EXH.) port Note 1)
T -~ 1/8 (Re, NPTF, G)
225 Pitch = 21
Common air pressure SUP (PV) port
1/8 (Rc, NPTF, G)

Note 1) The common exhaust port (EXH.) is also used as the pilot pressure
exhaust (PE) port of pilot valve. Use while the port is open to the
atmosphere.

Note 2) Combination of supply valve and release valve: K4, K5, K6, K7, K8, J3,
J4, D4
The supply and release valves of this product have a structure which

_ (mm) uses the pressure of the air pressure SUP (PV) port to operate them. Be
Symbol Stations | 4 2 3 4 5 6 7 8 sure to supply a pressure that is the pressure of the air pressure SUP
L1 33 54 75 96 117 | 138 | 159 | 180 (PV) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB)
L2 45 | 66 | 87 | 108 | 129 | 150 | 171 | 192 ports for supply and release.
L3 50 71 92 113 | 134 | 155 | 176 | 197

© 896



(In the case of individual spacer)

B cross section

Individual spacer ZX1-R1

Dummy spacer ZX1-R16 ]

Dummy spacer ZX1-R16

Individual spacer ZX1-R1

M3

118.8
61.4
25_10
h
& <
Pt S A
I ‘; e
5 Vi3 |
2 &
= @4
Il VA
i &l
o [ o
39.9

25.5
6.3

225

i
1
S LTI
LR lEE
Sl s
=
1 4.7 Air pressure SUP (PV) port
- M5 (or M6)
20| || 5
Pitch = 21

Air pressure SUP (PV) port

M5 (or M6)

71.8

8.5

Vacuum (V) port
M5 (or M6)

Vacuum (V) port
M5 (or M6)

80.6

10.7

225

Vacuum (V) port
M5 (or M6)

Vacuum Module:
Ejector System

Series ZX

System circuit example

(Standard) (Semi-standard) ZA
(In the case of individual spacer) m
PV EXH
FS,D Indiidual specer R1 oG on ZR
PD PD %

Bl i M
e 8, | e B INA
PS v
PV | | B ® = lh | =

g v RHER N
PD Dummy spacer R16 - Vv

PD

@L
E ] ?

PS Eu
PV b i % v S — 1 % %
PD T Dumm sacerR?Fq‘ H \Y YO
2 Lt
M PB >t
Ei T i o ZF]
et
Individual spacer R:DI?Q o=V Ee - 3 Mﬁ& l 7P0]
B PA b---ollTild
PD Individual spacer R1 v
e Tl SP
PV X:FH b PD T
v R ZCUK
Adapter D PS PD PV XF E
PV EXH ||
Adapter D £~ 25 PD v AMJ
PV EXH AMV
AEP
HEP
Related

Equipment

897 ®



Series ZX

Ejector System

97[103.8]
39.2[46.2] 4 x 955 (Mounting hole)
23.4 ) 32 / 12.4 10
n
/ e
— i
A: Release flow rate N
adjusting needle with 0 ]
lock nut - S b )@
== =il NN
SRR A e
8 =) — £l ®% “ >t Ml ol -
~ 1 = 7 I
(Needle fully open) § ] ////A T
a Flom 7
=B | &y
N
Manifold base — N L
©! \Pressure setting trimmer
- (44) , ,
So Ejector + Silencer
c o
o®
O %
= 0
' 3 5
Pilot valve for supply § 2 Vacuum switch
V114 - ZSE2
Release valve AC DC Filter
V114 I
Release flow rate / — : f
adjusting needle 3 Mm
B © ’
£ ‘ -
@ I
- =y o
~ ©
iy o
2 ®
Q N
|| f & [ © ° o
Common EXH (EXH.) port*!
37.4 3 1/8 (Re, NPTF, G)
225 \ Pitch = 21 44
Common air pressure SUP (PV) port
1/8 (Rc, NPTF, G)
*1 The common exhaust port (EXH.) is also
used as the pilot pressure exhaust (PE)
port of pilot valve. Use while the port is
open to the atmosphere.
(mm)
smoo—S2s] 4 [ 2 [ 3 [ 45 6 [ 78 [1:AC
L1 33 54 75 96 117 | 138 | 159 | 180
L2 45 66 87 | 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197




Vacuum Module: .
Ejector System Series ZX

Circuit diagram

PV EXH
PS PD
VAN

PS %" —|
LD[@/\JUU 0 v

N
~
l

£33

[cc
C
f
=
=

E

=
m
e

PS Xt 1
L fos PV E S
et A SR 4 o

,E, i

>
®
<
S
HlIES
gllm
a-]

Equipment

L —

]
&
®
| ®

4.5 21 22.5

899 ®



Series ZX

Ejector System

116.5[118.7]
58.9 [61.1] - 4 x05.5 (Mounting hole)
42.9 [45.1] ‘ 32
12.4 10
Manual override / 0
(Push and turn the 22.3 [24.5] : / ©
locking type override.) :(““
Nl
A 77).@)

A: Release flow rate of 4 r%g - Wi Yo
adjusting needle with by v-I f% NI 7 Q=
lock nut ) - & ®/X a rf I

F= ® 7,0 5
o1 — W &
N 7,
8. B &
(Needle fully open) Z m
Manifold base ! N4 .
©1 \ Pressure setting trimmer
(44)
Pilot valve for supply Ejector + Silencer
(Normally open)
SYJ324M =
Bo
17.5 _ 10 53
o X
5 g
32
Release valve 9
(Normally closed) y
SYJ314 AC DC Vacuum switch
i l ZSE2
(- pe=ed H Filter
No | |5 ] 117 Release flow rate i
B e I S e adjusting needle ' \
&R [ SR =) ' N H
4+ i 4+ N \ © /
3PV P —-PD)HS(PV —B ——PD{I 3 } } } /‘ﬁ 1
3 ] S I
2RO
£ preeEYel o
S 0
M| X o
N | —
o - G)AN! o O
‘ ‘® ®€E‘ ‘ FI g ‘ p@]
Common EXH (EXH.) port*!
20 5 374 8 1/8 (Re, NPTF, G)
25 | Pitch = 21 44
Common air pressure SUP (PV) port
1/8 (Re, NPTF, G)
*1 The common exhaust port (EXH.) is also
used as the pilot pressure exhaust (PE)
port of pilot valve. Use while the port is
open to the atmosphere.
(mm)
Symbol Staons | 4 2 3 4 5 6 7 8
L1 33 54 75 96 117 | 138 | 159 | 180
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197




Vacuum Module: .
Ejector System Series ZX

Circuit diagram

PV EXH
PS PD
Y X A
PD X——+— ]
:: N~
: g W N N
PS X——<—t+—1 ]
PV E 5N
NFIEIRY
— N2 e N, 0 4V
PD %——— 1P
; NP
% NI NP N NI
PS X—t—t— Nt 1
PV E N
SNFIEIY
o A EES HO—<v
Vacuum (V) port A XV
M5 orme) | #+ PS PD
PV EXH

1 i

4.2 21 22.5

N
~
l

N
[}
=
=

5= =
S EFIEIEZS
s v ] U = C

901 ®



Vacuum Module:
Vacuum Pump System

Series ZX

for CE/UKCA-compliant products.

How to Order

| e |—[ Ve | ZX100 —
| \’(‘alovet;‘:: |_| Vacuuur:ifwitch | ZX1 00 — m
[ e ][ ] ZX100—

Valve unit/Combination of supply valve and release valve
Refer to “Table (1)” on page 903.

Solenoid valve rated voltage

CE/UKCA-compliant
1% Note)) 100 VAC 50/60 Hz —
3+ Note)] 110 VAC 50/60 Hz —
5 24 VDC [ ]
6 12VDC [ J
\ 6 VDC [ ]
S 5VDC [ ]
R 3VDC [ ]
Nil Air operated .
(K8, K8, J3, J4, D3, D4)

Note) CE/UKCA-compliant products are not
available for “1” and “3”.
« Applicable to plug connector only. When replacing a product
that uses a connector assembly with rectifier, replace the
connector assembly as well. (Table (2) on page 903)

Electrical entry

L | Lplg Lead wire length 0.3 m
LN | connector | Without lead wire (Applicable to DC only)

LO type Without connector

M | Mplug Lead wire length 0.3 m
MN | connector | Without lead wire (Applicable to DC only)
MO | type Without connector

G | Grommet | Lead wire length 0.3 m (Applicable to DC only)

H type | Lead wire length 0.6 m (Applicable to DC only)

Nil Air operated

Note) In the case of “K1” (combination of supply and release
valves), M type plug connector can not be used.

A\ Caution

CE/UKCA-compliant

[ il

|_Q |CE/UKCA-compliant *

switch

+ Only for the model with
solenoid valve or pressure

——e Release flow rate adjusting needle/Bracket A

Lock nut Bracket A
PV/V port size Nil X [ ]
Nil | M5x0.8 L L] L]
v M6 x 1 M [ ) X
(Semi-standard)* N X X

with a plug.

* When the units are

the PV portis M5 x 0.8

@: Attached (Bracket A is shipped together.) X : None

shipped as a manifold, Note)A bracket is applicable only when the
product is to be shipped on its own. When

a manifold is to be shipped, a bracket is
not included with any of the models.

Vacuum switch electrical entry

Nil [Grommet | Lead wire length 0.6 m
L type | Lead wire length 3 m ||« Refer to “Table
C Lead wire length 0.6 m || (3)” on page 903
CL_|Connector| Lead wire length 3 m || for part number
cN type | Without lead wire of lead wire with
assembly with connector || connector.

Vacuum switch unit/Filter unit CE/UKCA-compliant
E_ |Vacuum switch (For general purpose)(ZSEZ)(NPN)\With suction [ J
E55 |Vacuum switch (For general purpose)(ZSE2)(PNP) | fiter [ )
F Only suction filter —

Manual operation

<For DC>

Grommet, L and M Plug Connector

Red
(+)0—

With surge voltage suppressor

Polarity protection diode

With light/surge voltage suppressor

[ Nil_] Non-locking push type |

B \ Locking slotted type

Light/Surge voltage suppressor

The filter mounted on the product is
a simplified one. When used in an
environment with a lot of dust, the
filter is likely to be clogged quickly.

Polarity protection diode Nil None The use with the series ZFA, ZFB
Z | With light/surge voltage suppressor and ZFC is recommended.
S* | With surge voltage suppressor

Black

9 Coil

Match the polarity of the connectors according to the ® and & marks on
the connectors. Do not interchange the polarities to prevent the diodes or
the switching elements from becoming burned.

If lead wires are pre-connected, the red wire is @ and the black wire is ©.

Zib Coil
[ a—

S is not available for AC.

If the polarity is incorrect at DC voltage (surge voltage suppressor),
diode or switching element may be damaged.

* Refer to “Table (2)” on page 903 for part number of lead wire with connector.
* Refer to page 916 for ordering the manifold.

<For AC>

L and M Plug Connector

With light (O02)

(~)
u
Varistor

()

Coil

* Refer to pages 926 and 927 for ordering a unit for replacement.

@ 902




Vacuum Module:
Vacuum Pump System

Table (1) Valve Unit/Combination of Supply Valve and Release Valve

Series ZX

(Refer to page 904 for detailed specifications.)

Ral

Components Supply valve F valve
Symbol Solenoid valve Air operated Solenoid valve | Air operated |External release Weight (g)
Supply valve | Release valve Y N.C. N.O. N.C. N.O. None N.C. N.C. N.C. ZX1A None ontig
(V114) |(SYJ324)| (ZX1A) |(SYJA324) (V114) |(SYJ314) |(SYJA314)
Solenoid Solenoid
(N.C) (N.C) LS g - - - - g - - - - 79
Solenoid Solenoid
(N.O)) (N.C) IS - L - - - - L - - - | M2
Air operated
(N.C) External release K6 — — [ ) — — — — — [ ) — 53
Air operated | Air operated o - o o - o . o
(N.O.) (N.C.) Ke Ll Ll 83
— Nil Without valve module

Table (2) Valve Unit/Valve Plug Connector Assembly

Table (3) Vacuum Switch/Plug Connector Assembly

- e

N
=
=

For DC:
SY100-30-4A-
For 100 VAC:
SY100-30-1A-
For 110 VAC:
SY100-30-3A-

Without lead wire:
(with connector and 2 sockets only)

SY100-30-A

How to order
If ordering vacuum module with 600 mm
or the longer lead wire, specify both
vacuum module and connector assembly
part numbers.

(Ordering example)
ZX100-K15LOZ-EC(-Q
#8Y100-30-4A-6----

) eeeee 1 pc.

The asterisk () denotes the symbol

for assembly.
Lead wire length
Nil 0.3m
6 0.6m
10 im
15 1.5m .
20 | am /A Warning
25 25m When replacing a product that uses a
30 3m connector assembly with rectifier, replace
50 5m the connector assembly as well.

Forzse2 ZS-10-5A-

Lead wire length

Nil |0.6m
30 | 3m
50 | 5m

Note) If ordering switch with 5 m
lead wire, specify both
switch and lead wire
connector part numbers.

Ordering example)

ZX100-K150Z- ECN(-Q) ------- 1 pc.
%SY100-30-4A-6 -vvevvvevrevnnns 2 pos.
$78-10-5A-50 -e-ereeeeverererereneans 1 pc.

The asterisk (*) denotes the symbol for assembly.

B[F|=|%|®]

Yl

BN ;| [ NN
[ o ||
Ele|®|old

‘ Ejector System/Recommended Model (The models below are for express delivery.)

= -
HIEAESE
o ) =

Equipment

Combinati ;
— Supply vacl)::a m::ecl)enase Valve |Solenoid valve | Lead wire L'%Zﬁ:;;ge Vacuum switch unit | Vacuum switch
(Pilot valve) |(Direct operated) rated voltage | electrical entry suppressor /Filter unit electrical entry
N.C. N.C. Suction filter
ZXI00KIOEZH (V114) (V114) . (2X1-F)
NC NG Plug With light/surge
ZX100-K15LZ-EC Vi Vi 24VDC | connector voltage . Connector
(N : ) (N : ) type suppressor Vac:JZugEsz\;wtch type
L e (SYJ324M) | (SYJ314)

+*The above models are for express delivery.

ZX100-K15LZ-E]

ZX100-K35MZ-E]

903 ©



Series ZX

Vacuum Pump System/Combination of Supply Valve and Release Valve

Combination Symbol: K6

Application: This combination is used for
accordance with air signals.

PD X——

Combination Symbol: K1

Application: This combination is used for effecting control in
accordance with electric signals.
PD X%—

effecting control in

Release valve

Pilot valve
for supply

PD

PV 5
> I %@
—v

How to Operate

How to Operate

Valve Supply valve Rell valve Valve Supply valve Rell valve
Condition Solenoid valve Solenoid valve Condition External 3 port valve | External 2 port valve
1. Work adsorption ON OFF 1. Work adsorption ON OFF
2. Vacuum release OFF ON 2. Vacuum rell OFF ON
3. Operation stop OFF OFF 3. Operation stop OFF OFF

Combination Symbol: K3

Combination Symbol: K8

Application: This combination is used for effecting control in
accordance with electric signals. Because the supply valve is N.O.,
the pressure that is supplied to the ejector is not interrupted during a
power outage; as a result, the state of suction can be maintained.
This combination is used for preventing the workpieces from dropping

Application: This combination is used for effecting control in
accordance with air signals. Because the supply valve is N.O., the
pressure that is supplied to the ejector is not interrupted during a
power outage; as a result, the state of suction can be maintained.
This type is used for preventing the workpieces from dropping during

during power outages.
PD X——y

power outages.

PD X———

PB DT
Release valve %
Pilot valve PA D14
f | %,
or supply PE 3
PE :
PS >—t— PS >— i
PV F—— PV <———
NHEY SR
v <V
How to Operate How to Operate
Valve Supply valve Rell valve Valve Supply valve Rel valve
Condition Solenoid valve Solenoid valve Condition Air operated valve Air operated valve
1. Work adsorption OFF OFF 1. Work adsorption OFF OFF
2. Vacuum rel ON ON 2. Vacuum rel ON ON
3. Operation stop ON OFF 3. Operation stop ON OFF

® 904




Vacuum Pump System/Construction

Vacuum Module:
Vacuum Pump System

Series ZX

)

10

S

=

=

=

'@i ®
— Pl

|

i

® X?

Component Parts

Replacement Parts

s g

No. Description Material Note No. Description Material Part no.
1 | Poppet valve assembly — ZX1-PV-0 9 |Pilot valve — Refer to “Table (2)", “(3)”.
2 | Release flow rate adjusting needle| Stainless steel ZX1-NA 10 | Filter element PVA ZX1-FE ZYD
3 | Manifold base Aluminum 11 | Gasket ZX1-FG
4 | Vacuum switch — ZSE2 12 | Filter case assembly — ZX1-FK-PC* IF0]
5 | Valve unit — zx1-veOOOOO0-0-0d * Component parts
6 | Interface plate — (PV)/(PS<++PD) Filter case, filter element, tension bolt (including O-rings) 7P
7 | Return spring Stainless steel (Gasket @ is not included.)
8Note) | Filter case Polycarbonate Note) Caution when handling filter case
1. The case is made of polycarbonate. Therefore, do not use it with SP
or expose it to the following chemicals: paint thinner, carbon
tetrachloride, chloroform, acetic ester, aniline, cyclohexane, ZCUK
trichloroethylene, sulfuric acid, lactic acid, watersoluble cutting oil
(alkalinic), etc.
2. Do not expose it to direct sunlight. AMJ
Table (1) How to Order Pilot Valves Table (2) How to Order Solenoid Valves AMV
Component equipment Continaon ofsupply @Supply valve (N.C.): K1, J1
No. Supply valve | Rel valve Aloall and release valve Z1-Vi14 - I_l—_l AEP
1 Solenoid valve| Solenoid valve Z1-vi14-0000 K1 =
N.C. (V114) |N.C. (V114) HEP
. . Manual override
2 ﬁog)e?leig;J‘l(ﬂe) ﬁoéer108|$};:\2‘; ZX1-SYJ3;4D'DDDD K3 Nil | Non-locking push type
- i @Supply valve (N.O.): K3, J2 B | Locking slotted type Related
Air operated | Air operated } 1 Supply valve (N.O. Equipment
3 INO. (SYJA324)| N.C. (SYJA314)|  ZXT-SYJA34 K6 pzp)‘('.' - S(Y J3)24M -BIIL
4 Solenoid valve | Air operated | No. 2 and 3 models only are applicable.
Air operated  |Solenoid valve | Indicate each part number. Release valve (N.C.)

Table (3) How to Order Air Operated Valves

ZX1A— M5

Port size

Pilot port/

‘ LB External release port

M5 x 0.8 ‘

A\ Caution

Turning the vacuum release flow volume adjusting needle clockwise
reduces the vacuum release flow volume; the needle valve is fully
closed when the needle stops turning. Turning the needle 2 full turns
counterclockwise from the fully closed position renders the needle valve
fully open. The needle will fall out if it is turned more than 4 full turns.

In order to prevent the needle from loosening and falling out, the release
flow rate adjusting needle with lock nut (ZX1-ND-L) is also available.

ZX1-SYJ314-|5]||L||Z
Rated voltage Manual override

1* | 100 VAC Nil | Non-locking push type

3* | 110 VAC D | Locking slotted type

5 | 24VDC

6 | 12VDC Light/Surge voltage suppressor

Z 6 VDC Nil | Without light/surge voltage suppressor

R 5VDC S* | With surge voltage suppressor
3VDC Z__|With light/surge voltage suppressor

# Applicable to plug connector only. + S is not available for AC.

Electrical entry

L Connector (0.3 m)

LN | Connector (without lead wire)
LO | Without connector

M* | Connector (0.3 m)

MN* | Connector (without lead wire) |
MO* | Without connector

G Grommet (0.3 m)

H Grommet (0.6 m)

# In the case of Z1-V114, M, MN and MO cannot be

selected.

D

905 ©



Series ZX

Refer to page 872 for details.

Model/Specifications

pressure SUP (PS) port

Unit no. zX1-vBOOOOO-O
Components Supply valve Rel valve
Pilot type Direct operated type
. Solenoid valve Air operated Solenoid valve |External Air
Operation
P ! N.C. N.O. N.C. N.O. N.C. N.C. |release | operated
(V114) [(SYJ324)| (ZX1A) |(SYJA324)| (V114) |(SYJ314)| (ZX1A) | (SYJA314)
Cv factor 0.17 0.008 0.08 —
Supply pressure range of vacuum .
pressure SUP (PV) port 0.1t0 0 MPa
Supply pressure range of pilot 0.310 0.6 MPa

Supply pressure range of pilot pressure SUP
(PA, PB) ports for supply and release "2

PS port pressure to 0.6 MPa

Max. operating frequency 5 Hz
Operating temperature range 5 to 50°C
Interface plate symbol (PV)s(PS==PD)

Standard accessory

Bracket B (ZX1-OBB)

Note) The supply and release valves of this product have a structure which uses the pressure of the pilot
pressure SUP (PS) port to operate them. Be sure to supply a pressure that is the pressure of the pilot
pressure SUP (PS) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for

supply and release.

o
" K1 (Normally closed)

@@@“ K3 (Normally open)

N =
PD X——y PD X———
Release valve Release valve
M N—
Pilot valve
for supply Pilot valve
PD ] for supply I
i PE H
PS D—<— PS D>—i—
PV < PV <
] FNHE
— Vv <1V
A: Release flow rate
adjusting needle with .
76.9 [79.1]
lock nut *
w7442 574[642] 56.9 [59.1]
nlac e | ol 22.3[24.5] 7% ol
—| = —|*
8 = = ==
(Needle fully open) @ OE i @ f ZMH - Y
o i o N Pl I/ s
Manual override g* Manual override 8*
o X 03.6 Bracket B 2x03.6
Bracket B ’\;0 t ol (ZX1-OBB) (Mounting hole)
7(ZX1-OBB) (Mounting hole)
Pilot valve Pilot valve for
forsupply Ul Ui Releasevalve AC DCH supply (N.O.) Release valve  JAcDC
vii4 V114 SYJ324M SvJ314 3|
Pilot pressure b Pilot pressure
EXH (PE) port Release flow rate x| EXH(PE)port 3 .
o B
M3 adjusting needle + © M3 PI%P[8 Release flow rate b§
h ] =20 adjusti I 5 2,
o~ P ~ adjusting needle A@ P 2 0
ol Tola amEEhesm 3¢ i H 8
Pilot pressure L0 o) | &« IR AR ﬁﬂ ol Q& W~ =
SUP (PS) port |gf 4@ A é e ] 1y @
:\g::commended | ! 2xa3 3 :1’:*:: | T :1:::
- % "
fitting: M-3AU-3) ; 7 (Mounting hole) ; 1 47 (Mounting hole)
- 5
5 :\/A%CEJ;TAZ;%SWS SUP (PV) port Vacuum (V) port Vacuum pressure SUP (PV) port Vacuum (V) port

M5 (or M6)

Pilot pressure M5(rMe)

M5 (or M6)
SUP (PS) port
M3

Note) Dimensions =: For mounting bracket B xx: For mounting spacer

® 906

O
2

(Recommended fitting: M-3AU-3)
[]:AC



Vacuum Module: .
Vacuum Pump System Series ZX

Refer to page 874 for details.

Specifications
Unit no. ZX1-F
Operating pressure range —100 to 500 kPa
Operating temperature range 5 to 50°C
Filtration efficiency 30 um
Filter media [ PVA
. 379 ZX1-F-0 (With bracket A)
Weight Y ZX1-F-O-N (Without bracket A)

Note) If not operated within the specified range of pressure and temperature, trouble may be caused.

How to Order

ZX1-F-[ |-

PV, V port size 1
[ Nil_[M5x0.8 |
| Y |M6x1 (Semi-standard)]|

lBracket
[ Nil_[with bracket A |
[ N [Without bracketA]

Vacuum Pressure Switch Unit/ZSE2

Refer to pages 875 and 876 for details.

YA (NI
lThe ZSE3 vacuum pressure switch unit is to be discontinued.‘
ZF]
Vacuum Pressure Switch Vacuum Pressure Switch Specifications pgeter to Best Pneumatics No. 6 for details. |ZPL]
. Unit no. ZSE2-0X
High speed response/10 ms Fluid Air SP
f A . Set pressure range 0to—101 kPa
USG? a carrier diffusion Hysteresis 3% Full span or less ZCUK
semiconductor pressure Repeatability +1% Full span or less
sensor Temperature characteristics +3% Full span or less
Voltage 12 to 24 VDC (Ripple £10% or less) AMJ
Port size M5 x 0.8, M6 x 1 (Semi-standard)

Note) If not operated within the specified range of pressure and temperature, trouble may be caused.

¢ Filter case

A\ Caution

1.The case is made of polycarbonate.
Therefore, do not use it with or expose it to
the following chemicals: paint thinner, carbon
tetrachloride, chloroform, acetic ester, aniline,
cyclohexane, trichloroethylene, sulfuric acid,
lactic acid, water-soluble cutting oil (alkalinic),
etc.

2. Do not expose it to direct sunlight.

O
2

Equipment

907 ©



Series ZX

Valve Unit: Type K1

Configuration and combination

[ Vvalve unit (K1) |+

[ Vacuum switch (ZSE2) |

< e
L
oo

,\\0*\(?\?

Model
ZX100

Vacuum switch (ZSE2)
ZX100-K1OOO-EO

A: Release flow rate
adjusting needle
with lock nut

8

—

(Needle fully open)

Pilot valve for supply
V114

il

o]
|

o=|

(O]

28

@©
1)

r
i

i
o

190

Pilot pressure EXH (PE) port
M3

(Recommended fitting:

M-3AU-3) ! 47

1]
|
fon

K1OO00OO

[ Filter unit (F)

EC
E

ERINIRTORN
‘ qgf;% €

PD X——

Release valve g
Pilot valve f
for supply
PE '

Spacer 1 (ZX1-81)
(For side mounting)

Circuit diagram
(Circuits other than those with
vacuum switch are shown as
below.)

Vacuum
switch (E)

Filter unit

[F2X1F

66 [72.8]
29.2
Manual override |
Ei} r“‘,‘
cpE e ]
- L::t;,: g -
SSTRI_B J
@ o — @ = m o | %
ael =n T 995
— %‘@El) °
]
ay o 4h
72,, ™
Pressure setting trimmer, )
g 03.6*
4 M ing hol
2% R1.8* (Mounting hole)
(Mounting hole) 1% 10* 17.6*
19* 13.6*
Release valve AC DC B
V114 i Vacuum switch
% ZSE2
:- = I
Release flow rate | /
adjusting needle —=
[N 0
D
Pilot pressure ©
SUP (PS) port
M3
N ® |,
P 10
1 2
N I — -
Vacuum pressure SUP (PV) port ©
M5 (or M6) 2x033 10 | 17.6
(Mounting hole)

Note) Dimensions =: For mounting bracket A #x: For mounting spacer 1.

® 908

Bracket A
(ZX1-OBA)

—
| =
| ©
NN

N

o =

2| @
SIS

A AL T %

@R |

45 Vacuum (V) port

M5 (or M6)

[1: AC



Filter unit (F)
ZX100-K1OOOO-F

A: Release flow rate adjusting
needle with lock nut

g

(Needle fully open)

Note) At the pilot pressure SUP (PS) port,
use a One-touch fitting or a barb fitting
of one of the following sizes.

If the lock nut for release flow rate
adjusting needle is:
* Not attached:

@8 or smaller (e.g. KQ2S04-M3G)
 Attached:

6 or smaller (e.g. M-3AU-3)

55.4 [62.2]
A S
) * *
]3|
1
e

2xR1.8*

(Mounting hole)

%
* 1‘10

e 8.8*

19* 4.8*

) fiter

o
!

}
.8/ \2 x23.5

I
o [~

(Mounting hole)

23.6* (Mounting hole)

Vacuum Module: .
Vacuum Pump System Series ZX

Spacer 1: ZX1-S1

(Mounting hole)

- e

N
=
=

WEEE

N

YO

<88

N
[}
=
=

H

> |[=
m| =
0| =

E[=
g||m
a-]

Equipment

909 ®



Series ZX

Valve Unit: Type K3

Configuration and combination

[ Valve unit (K3)

I+ [ Vacuum

switch (ZSE2) |

[ Filter unit (F) |

Circuit diagram
(Circuits other than those with
vacuum switch are shown as
below.)

Vacuum
switch (E)

% |

Model ECI
PD X——
ZX100 — K3OoOOod —
F Release valve
Pilot valve
for supply
PE 7
Ps >—i—
Vacuum switch (ZSE2) S 1 Da1-51)
pacer -
ZX100-K3OO-ED (For side mounting)
85.5 [87.7]
29.2
A: Release flow rate
adjusting needle
with lock nut 22:3[24.5] F.\; N
A
L::t;,,"** -
] b
(N§>dlfll ) "EOI % - & £m SRR
eedle fully open I 5 ~ J
Bt A
‘;, +
Manual override / Pressure seningtrimmer/h, ot
Pilot valve for supply LA™
(Normally open) 2xR18" 03.6*
SYJ324M (Mounting hole) m
Release valve . .
(Normally closed) Release flow rate 1* 10* 17.6*
SYJ314 adjusting needle 19%* 13.6*
AC
! - DC
[ 1Y e Vacuum switch
. § ZSE2
Tl e ﬂ
B @D | ‘ ’
5 \
2 I
2 I
[} ©o| v
° o| 5| B
n
& B 0
(& & G2
e
| -
Pilot pressure . 2x03.3
Pilot pressure SUP (PS) port —_————
II\E/l)éH (PE) port 1 M3 10 17.6 (Mounting hole)
5

Vacuum pressure SUP (PV) port
M5 (or M6)

Note) Dimensions *: For mounting bracket A =x: For mounting spacer 1.

® 910

Filter unit

[2X1F

o

o)
<
&)
Vacuum (V) port ~
M5 (or M6 o
i AW 6?)7‘ %3
© \i@ o
) -
Bracket A
(ZX1-OBA)

[]: AC



Vacuum Module: .
Vacuum Pump System Series ZX

Filter unit (F) 74.9[77.1]
ZX100-K3OOOO-F

W Spacer 1: ZX1-S1
§| " AP o
&= ™ & ‘
- o
ﬂ“c be 2xR1.8% j‘» H 036" (Mounting hole) E
| l (Mountmghole1)* o éﬁiuntlng hole) %
19* 4.8* 7MA
R ‘ Filter
i Eq E
H 1‘1 ’ E
L0 1 E
[ el
T3 o
nleshens il
sP_

FlEllE|| 2|2
glmiiml| = P
BIBIZIE|E

Equipment

911 ®



Series ZX

Pilot External release
air supply| |air supply
)

. &
Valve Unit: Type K6 < NN
<
\50
. . . . . \Q&%Q
Configuration and combination _ ?%\;Y\(?
[ Valve unit (K6) |+ I V.acuum.swnch (ZSE2) | P
[ Filter unit (F) l &
Model e
EC o
ZX100 — K6 — S
F Circuit diagram
PD X—— (Circuits other than those with
vacuum switch are shown as
gﬁ;r?slla;elease pressure | 2 below.)
port
Vacuum
switch (E)
PS D—
PV <
Pilot pressure [—
SUP (PA) port Vv
. Filter unit
Vacuum switch (ZSE2) Spacer 1 (2X1-51) i
ZX100-K6-EL] (For side mounting) ( 0 “ v
66 L7 ]
29.2
M5 2 13
Pilot pressure SUP
(PA) port Note 2)
A: Release flow rate *
adjusting needle N Y
with lock nut S OI H % S ® |
~l H <[ v
b-
1R
8 /
(Needle fully open) M5 Pressure setting
External release pressure trimmer
Note 2) .
SUP (PB) port Note 23.6*
2 x R1.8% (Mounting hole)
(Mounting hole) 1% 10* 17.6*
19* 13.6*
Vacuum switch
ZSE2
m% Release flow rate MM @
adjusting needle = 7
1
v L ‘ 0 x|
@ )
n (3] (5]
=] &)
©
q| L] © . %
N q jéﬂ ® 5 AE @ H &
§] | &7 3 j @ @ ] -
=z ‘ :::::“ 7o) '_, o= —:: Y
Pilot pressure M/f: © 45 Vacuum (V) port
EXH (PE) port (Mounting hole) 10 17.6 - M5 (or M6)
M3
e 66
Bracket A
(2X1-OBA)
Vacuum pressure SUP (PV) port
M5 (or M6)
Note 1) Dimensions :: For mounting bracket A :: For mounting spacer 1. []: AC

Note 2) Combination of supply valve and release valve: K5, K6, J3
The supply and release valves of this product have a structure which uses the pressure of the pilot pressure SUP (PS) port to operate them. Be sure to supply a
pressure that is the pressure of the pilot pressure SUP (PS) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for supply and release.

© 912



Filter unit (F) 254
ZX100-K6-F -
Fann
. litp oo} | =
) © 1y SEE
pe s L
NZEN
P
2 x R1.8* 3.6*
(Mounting hole) (Mounting hole)
1* 10* 8.8*
19* 4.8*
—~ Filter
|
T 1T ‘
1
|
I ©Q
O Q*
2x83.5
Mounti
nleg (s

Vacuum Module: .
Vacuum Pump System Series ZX

Spacer 1: ZX1-S1

Yl

FlEllE|| 2|2
glmiiml| = P
BIBIZIE|E

Equipment

913 ®



Series ZX

Air supply

Air supply y | for release

for supply | | valve pilot
valve pilot g
A &
Valve Unit: Type K8 O
<
- - - - N
Configuration and combination _ _\0\@;95
- [ Vacuum switch (ZSE2) | <S¢
Valve unit (K8) |+ = - S e
[ Filter unit (F) [ A ot
Ve © @0
=N N
Model ECI \
ZX100 — K8 — A
F PD X——— Circuit diagram
Pilot pressure DI, (Circuits other than those with
SUP (PB) port for release vacuum switch are shown as
below.)
Pilot pressure >-f
v
SUP (PA) port for supply Vacuum
PE 3 switch (E)
i -- ZSE2 --
PS D—— " “
PV <—s— | 9 |
SNHEIN ‘ ‘
Fofoy
Vacuum switch (ZSE2) Spacer 1 (ZX1-81) Filter unit
-Ko- o —t - ZX1-F -
ZX100-K8-EO (For side mounting) ( W
—O>—<v
66.6 LJ
29.2
M3
Pilot pressure SUP 3
(PA) port for supply Note 2) [:} o |
(3} | N ]
i Lo, cin
15
2e o ™, SIEA S
N Lo ‘(,[ <|
® o
M3
Pilot pressure SUP Pressure setting trimmer T &y
A: Release flow rate (PB) portfor release Note2 . - -
adjusting needle 2xR1.8% 03.6"
with lock nut (Mounting hole) (Mounting hole)
1* 10* 17.6*
8 19* 13.6*
(Needle fully open)
Release valve Release valve
(Normally open) (Normally closed) Vacuum switch
(Air operated (Air operated (ZSE2)
SYJA324) MH SYJA314) Hm
Manual override !ﬂﬂDW Reloase flow ra nn
(Non-locking) ¥ Helease flow rate - w
\<}@ {f/p adjusting needle / MM
@ @ L
PV (A5 <=PI
© [ 1 ‘ 5
=} 123 8 o o [}
0 © (}\ o 9 ©
© | (g
N8 o ®w O - Wl o Rk %
° (53] S W L e
EHINA 1 | /N K iLiNa
Pilot I — ) | S—
Pilot pressure llot pressure ..\:-
EXH (PE)port /| 4 47 SUP (PS) port _2x233 4.5 %
M3 5' M3 10 17.6 (Mounting hole) Vacuum (V) port

Vacuum pressure SUP (PV) port

M5 (or M6)

Note 1) Dimensions : For mounting bracket A ::: For mounting spacer 1.

Note 2) Combination of supply valve and release valve:

: K4, K7, K8, J4, D4

Bracket A

M5 (or M6)
(ZX1-OBA)

[1: AC

The supply and release valves of this product have a structure which uses the pressure of the pilot pressure SUP (PS) port to operate them. Be sure to supply a
pressure that is the pressure of the pilot pressure SUP (PS) port or more and 0.6 MPa or less to the pilot pressure SUP (PA, PB) ports for supply and release.

© 914



Filter unit (F)
ZX100-K8-F

Vacuum Module:
Vacuum Pump System

55
& @
2
T
Q 3
& o Q5| &
%) " "
2 x R1.8* P 2y
(Mounting hole) 23.6"
(Mounting hole)
1* 10* 8.8*
19* 4.8*
Filter
|
|
|
| @
@O 2
2x03.5
11_8.8 (Mounting hole)

Series ZX

Spacer 1: ZX1-S1

(Mounting hole)

Yl

N
-]
]

>>‘_':‘_,CIJ
sS|=||<s|| o

z= |[=
s(lm || m
O || O

Equipment

915 ®



Series ZX

Vacuum Pump System/Manifold Specifications

<Manifold base>

ZzX1[06]-

Specifications
Max. number of units Max. 8 units
Port [ Supply port [PV] 8 (Rc, NPTF, G)
size [ Exhaust port [EXH] /8 (Rc, NPTF, G)
Weight 1 station: 110 g (45 g per additional station)

Note 1) PD port: Blank
Note 2) Vacuum from both si

des of PV port for 6 or more stations of ZX100 external vacuum pump manifold.

Air Supply
Manifold Left side Right side
Supply port location Por PV PS PV PS
L (Left) O @) [ ] [ ]
R (Right) [ ) [ ) O @)
B (Both sides) O O O O

@ : Plugged
Note) All ports for each valve

(O Vacuum supply from PV port () : Air supply from PS port

unit are provided with plugs.

How to Order Manifold

<Individual spacer>

Use the individual spacer when separating the supply and pilot pressure
exhaust ports of the manifold ejector.

Stations Supply port location ZX1 - m -
o1 1 Supply port Air Supply
02| 2 Smbol ocaton *1[ Vaguum supply | Air supply Individual spacer Arrangement )
: : PV porton |PS porton R (First station from the right end of
08| 8 R |Right side the right side |the right side 7 th-e valve side is lstanon 1)
L |Left sige|PY POTton  |PS porton R16 Nil All stations
Thread of supply the left side |the left side *Refer to the 1 Station 1 only
and exhaust valve PV port PS port on individual spacer. : :
- B [Both sides : : - 8 Station 8 onl
Nil Rc on both sides|both sides (Ordering example) y
F G Note) “1Vi . If installed on station 1 and *When spacers are mounted alternately,
1 Vlgwed frpm the front S|de'of valve station 3 specify them together.
T NPTF unit, confirm the port location on the

Note) G thread
The thread ridge

shape is compatible

with the G thread

standard (JIS B 0202),
but other shapes are

not conforming to
1SO16030 and
1SO1179.

right and/or left side.

# 2 EXH ports are released to
atmospheric pressure in both sides.
Plugs are always attached to PD ports
and all ports of the valve unit.

(Ordering example)
ZZX106-R ------ 1 pc. (Manifold base)
*ZX100-K15LZ-EC(-Q)

~~~~~~ 5 pes. (Vacuum single unit)
*ZX1-BM1

444444 1 pc. (Blank plate)

/\ Caution when ordering manifold

e - ————— ==y
The asterisk denotes the symbol for assembly. 1
Prefix it to the ejector part numbers to be mounted. When it 1
is not added, the manifold base and ejector are shipped 1

separately.

1
1
1
1
ha o o o o o e e mm e m o w]

® 916

ZZX106-R ------1 pc.
*ZX100-K15LZ-EC(-Q)

*When retrofitting, 3 pcs. of M2.5 x 32 (for ZX)
are necessary. A dummy spacer (ZX1-R16)

------ 6 pcs. must be mounted on all stations on which
*ZX1-R1-1 individual spacers are not mounted in order
*ZX1-R1-3 to prevent interference caused by
*ZX1-R16 (Dummy spacer) unevenness in the valve unit.

...... 4 pcs.

About individual spacers

* Manifold supply or valve unit supply can be selectable for each port. In the
table below, ports with the symbol t mean that they are manifold supply,
while others are individual supply from the valve unit.

* Symbols in the table below are printed on the surface of individual spacers.

Part no. Symbol Part no. Symbol

ZX1-R1 | R1 ZX1-R 9] R 9 JPV
R2 | R2 1PE R10| R10 } PV 1PE
R3 | R3 1PD R11| Rr11 {PV_ }PD
R4 | R4 tPDIPE R12| R12 1PV IPD}PE
R5 | R5 PS R13| R13 {PV}{PS
R6 | R6 ps  }PE R14| R14 jPvirPs  IPE
R7 | R7 PS {PD R15| R15 {PV}PS}PD
R8 | R8 PS }PD }PE R16| R16 { PV} PS }PD {PE




Vacuum Module: .
Vacuum Pump System Series ZX

Manifold/System Circuit Example
When not using individual spacer

When using individual spacer
(When using ZX1-R1 and ZX1-R16)

MEEEEEEgs

. s"ﬁ,o
PV: Vacuum pressure SUP port Y
PS: Pilot pressure SUP port
PD: Release pressure SUP port
PE: Pilot pressure EXH port
EXH: Common EXH port
AN
<System circuit example> <System circuit example> 7F0]
PV EXH PV EXH
PS PD PS PD ZPC]
NY N . AY A
PD X———————— "~ PD P SP
ZCUK
AMJ
! AMV
N e N4
: M~ : NN
PS Xt PS — AEP
PV f X PV K
. . . HEP
N PN 4V NN : : <;> q vV
Dummy spacer ZX1-R16 T Relaed
PD X g g - Equipment
PD I N, NI N
s
: NN NNy
PS X “ ) - NN
: | =
PV & ﬁ
>
N NN 0 4V L <>—<]
VAV : \%
PS PD Individual spacer ZX1-R1 7 V AV
PV EXH PS PD
PV EXH

917 ®



Series ZX

Vacuum Pump System Manifold

End plate
Manifold base 104.3
589 175
\10_l1 6.4 4 x 85.5 (Mounting hole)
22.3 : 32
i W o /
A: Release flow rate ‘0} ® 1] -
. : o 2 L N
a(:l]ustlng needle . - o= B‘ N I
with lock nut Manual override 5 = -
ol 1 18
- 7 I
395 iy S
8 Manual override o} 1# o 1 Vacuum switch ZSE2
(N;(;Ie fully open) [ _1nl1s Pressure setting trimmer
) < w
M5 18 Adapter B
Pilot pressure SUP 9.3 (44)
Note 2) N
(PA) port for supply 1131 2o a5
M5 374 45.4
External release pressure
SUP (PB) port Note 2)
Adapter D
Individual spacer ZX1-R1
Pilot valve for supply
(Normally closed)
V114
Release valve
(Normally closed) Release valve
SYJ314 (Normally closed)
Pilot valve for supply vii4
(Normally open) Release flow rate
SYJ324M adjusting needle
RN
: 5 # o % =29
D, fen 0 A (") A+ ﬂ\ ? o
5 g 0 o > © A é" g A;lﬂ ' 8 ©
i 0l wof g © 3| v e L S0 ©
f >SN ~lo @ o |o O'L
® « ay 2 @
*
20 | | 25| 374 3 Common EXH (EXH.) port Note 1)
22.5 Pitch = 21 - ‘ - | 1/8 (Re, NPTF, G)
- 44

Individual vacuum pressure SUP (PV) port
M5 (or M6)

Common air pressure SUP (PV) port
Common pilot pressure SUP (PS) port 1/8 (Rc, NPTF, G)

2 xMs

Note 1) The common exhaust port (EXH.) is also used as the pilot pressure

(mm)
Symbol Stations] 1 2 3 4 5 6 7 8
L1 33 54 75 96 117 | 138 | 159 | 180
L2 45 66 87 | 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197

© 918

exhaust (PE) port of pilot valve. Use while the port is open to the
atmosphere.

Note 2) Combination of supply valve and release valve: K4, K5, K6, K7, K8, J3,

J4, D4

The supply and release valves of this product have a structure which
uses the pressure of the pilot pressure SUP (PS) port to operate them.
Be sure to supply a pressure that is the pressure of the pilot pressure
SUP (PS) port or more and 0.6 MPa or less to the pilot pressure SUP
(PA, PB) ports for supply and release.



Vacuum Module
Vacuum Pump System Series ZX

(In the case of individual spacer) System circuit example
B cross section (Standard) (Semi-standard)
(In the case of individual spacer)
104.3 PV EXH PV EXH |:
S PS PD Individual spacer R~ PS PD m
v | - AY A T N__AYa
Individual spacer ZX1-R1 25 10 PD N N . s A ]
N B @ W
PE !
; 1 alanl oo @
Dummy spacer ZX1-R16 M PS T ps > ~j X ZMA
[ R K T n
Dummy spacer ZX1-R16 | | : : LI
" T $——=V Dummy spacer R16 ] ¥ O—av ZQ
Individual spacer ZX1-R1 | | PD ! I PD "3 A 7H
—_—— = !
% Zu
PEx | ||| o )e%
PS % - —1 v ZL
A cross section P % | = P x— -1
P | | ) oy PV x— I A (N
PD T e N
iy Dummy spacer R16 CJ S—v 7F0]
et Epe——=thil
ahihb i PB
-1 PS
55 eI g 3 == v 2P
O kT o Pilot port b----b PS M
N b il somer i i SV PV SP
A i I ndividual spacer PA boep
Q) o l © S s ?®“_" = (Bt Indivigual spacer R1 T d—v
g e s ] I0UK
Individual vacuum ¢ ek F
1 4.7 pressure SUP (PV) port A PD NN N N AMJ
' M5 (or M6) A [ ate tul i
s v ] il
225 Pitch = 21 T4 5 ay . TGk AMV
Individual vacuum pressure SUP (PV) port M PS PD b B VUAUVU v
M5 (or M6) PV EXH Adapter D / PS PD AEP
PV EXH
Related
! Equipment
|
o T L ‘ T+ 5
- ] ©
™~ 1 ~
] S
0 —
—i
Vacuum (V) port 205

M5 (or M6) Pitch
=21
Vacuum (V) port

M5 (or M6) Vacuum (V) port

M5 (or M6)

919 ®



Series ZX

Vacuum Pump System Manifold: Type K1

85
39.2[46.2] . 4x05.5 (Mounting hole)
. 1
A: Relleas'e flow rate 234 32
adjusting needle
with lock nut 16.4 UL .
Manual override ©
EYELE
©
8| o & S
(Needle fully open) - j\@ gﬂ) <
(=)
= w5y Nk
o - 2 o 1 = ol oo
T = |||
2 1 k0 2
Fon F— ol
— HorH /
Manifold base T |
Pressure setting trimmer
44
£
58
o %
=0
) 235
Pilot valve for supply o 9
V114 8%
Release valve
V114 AC DC Vacuum switch
ZSE2 Filter
T Release flow rate adjusting needle ﬂ
] om
1 gﬁ L : /
o o &
b °
e ; = ; S 8
® ® £ol
2 8 -
L2 ® D ) & 2 ’z
Nl o - O)N O
‘ ‘® © @B" ‘ o] @ p o
Common pilot pée;s“l;llé_)e SUP (PS) port Common EXH (EXH.) port*!
20 5 37.4 3 1/8 (Re, NPTF, G)
225 J Pitch = 21 44
‘ Common air pressure SUP (PV) port
1/8 (Re, NPTF, G)
+1 The common exhaust port (EXH.) is also
(mm) used as the pilot pressure exhaust (PE)
Symbol Stations[— 4 2 3 4 5 6 7 8 port of p:ot valve. r:Jse while the port is
L1 33 | 54 | 75 | 96 | 117 | 138 | 159 | 180 open to the atmosphere.
L2 45 66 87 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197

® 920



Vacuum (V) port
M5 (or M6)

{

21

Vacuum Module: .
Vacuum Pump System Series ZX

Circuit diagram
PV EXH

PS PD
Y A

PD ¥—m————— PPy

([

[cc

LD N NPT 4} v

([

LD NN 4} v

s gs

N
=<
l

§I>>>‘_§U)NN
B QImIZIEIE|™|IO|D

Equipment

®

921 «



Series ZX

Vacuum Pump System Manifold: Type K3

A: Release flow rate

adjusting needle
with lock nut

8

—

(Needle fully open)

Pilot valve for supply
(Normally open)
SYJ324M

175 10

Manual override

104.5 [106.7]

(Push and turn the
locking type override.)

Release valve
(Normally closed)

58.9[61.1] | 4x055
42.9 [45.1] 32 (Mounting
22.3[24.5 16.4 hole)
10
f—l ©
©
| —
1Y
7 - <
& P °
Vaa\ e N by
[
I -
o B T
N S
™ i) o
—
&1L

Pressure setting trimmer

SYJ314 AC DC
J_: l Vacuum switch
e ZSE2
il il i ﬁ Filter
N [ Y] Release flow rate [
LY |t | adjusting needle : \ H
I Ar_
1+ : @O [T 11
o HHH
gl @ |
8 g 8
A [EXH]
2 8 »
N -
‘ by OI - @ Ei o
T M BVl
Common EXH (EXH.) port*!
25 37.4 3 1/8 (Rc, NPTF, G)
22.5 ‘ Pitch = 21 Common pilot pressure SUP (PS) port 44 Common air pressure SUP (PV) port
2x M5 1/8 (Rc, NPTF, G)
+1 The common exhaust port (EXH.) is also
used as the pilot pressure exhaust (PE)
port of pilot valve. Use while the port is
open to the atmosphere.
[]: AC
(mm)
Symbol ST 2 3 4 5 6 7 8
L1 33 54 75 96 117 | 138 | 159 | 180
L2 45 66 87 | 108 | 129 | 150 | 171 | 192
L3 50 71 92 113 | 134 | 155 | 176 | 197

® 922



Vacuum (V) port

M5 (or M6)

4

10.7

4.5

Vacuum Module: .
Vacuum Pump System Series ZX

Circuit diagram

PV EXH
PS PD
Y &

PD X—————1— T

C
cr

: NN
PS X
PV ‘ ! &
Li>
NPT 0 41V
PD X——— 1+

¢
ol

ps >
>
N O—<v

N
~
l

£33

=
=
=

E

=
m
e

HlIES
gllm
a-]

Equipment

923 ®



Series ZX

Ejector System (With Valve Unit) /Unit Construction (Refer to below for unit replacement.)

Single unit

How to order (D

Valve unit (Supply valve: N.O.) (For replacement)

zx1-vAK3OOOOO-b-s

How to order (D
Valve unit (Supply valve: N.C.) (For

ZX1-VAK1OOOOO-b-s
How to order (1)

Valve unit (Supply valve: Air operated) (For replacement)

zx1-vAKeJOOOO-D-s

(Dvalve unit

ZX1-V A

For ejector system

How to order 3
Vacuum switch unit
(For replacement)
ZSE2-0X[J-1501-D

Philips screw
AC00378 (M2.5 x 51)

How to order @
Filter unit (For replacement)
ZX1-F-J-D

Philips screw
“~ AC00649 (M2.5 x 39)

Philips screw
AC00777 (M2.5 x 14)

How to order @
Ejector assembly

zx1-wp[OO

How to Order Unit for Replacement

Unit for replacement I

-D-—

(3Vacuum switch unit

ZSE2-0X[ |-[15]

CE/UKCA-compliant V port size

S—- -D

I Unit for

Al — [Nl | M5x08 | replacement

Combination of supply q |CE/UKCA-| | ¥ |M6x1 (Semistandard)
valve and release valve o compliant Output specifications e————
(Refer to page 867 for details.) Release llovlw rate adjusting needle Single unit ’—'—‘15 NPN open collecior Piping specifications
Solenoid valve rated voltage (PDland PS ports are \ 55 \ PNP open collector\ Nil | Grommet (0.6 m)

CE-compl] equipped with plugs.) L Grommet (3 m)
1*|100 VAC 50/60 Hz | — PV port size C | Connector (0.6 m)
3*[110 VAC 50/60 Hz| — [Nl [ M5x08 | CL_| Connector (3 m)
5 24 VDC D LY [M6x1 (Semi-standard)] CN_| Without connector
6 12 VDC [ ]
\i 6 VDC [ Manual operation
S 5VDC ® [ Nil_[Non-locking push type| @Filter unit
R 3VDC [ | B |Locking slotted type| ZX1 — F _— — D

+ Applicable to plug connector only.

When replacing a product that uses Light/Surge voltage V port size
a connector assembly with rectifier, su.ppressor [ Nil ] M5 x 0.8 ‘
replace the connector assembly as Nil : None [ Y _[M6x1 (Semi-standard)]
well. (Table (2) on page 867) z With light/surge

voltage suppressor

Electrical entry
[ L [ Lplug connector |

(2Ejector assembl

ZX1-WD [05]

D: Unit for replacement

Unit for replacement I

i Ejector exhaust

Ex.) If a filter unit is replaced for a vacuum switch on ZX1071-K15LZ-F,

Nozzle diameter 1 Built-in silencer indicate as ZSE2-0X-15C-D. In this case, mounting screws AC00378
05| 0.5mm 2 | Port exhaust Rc /8 (M2.5 x 51) (2 pcs.) are required.
07| 0.7mm 2T |Port exhaust 1/8-NPTF If the unit is used on its own, not combined with others, “D” is not
10| 1.0mm required. (Valve unit, ejector assembly and switch unit)

© 924

Ex.) ZSE2-0X-15C, ZX1-VAK15LZ, ZX1-W051



Vacuum Module: .
Ejector System Series ZX

Ejector System (Without Valve Unit) /Unit Construction (Refer to below for unit replacement.)

Single unit

(DAdapter assembly

2Ejector assembly

ZX1-WD [05]

Unit for

How to order 3
Vacuum switch unit
(For replacement)
How to order (4

ZSE2-0X [-1500-D
{ |m|
Filter unit (For replacement)

" ZX1-F1-[0-D

How to order (1
Adapter assembly

ZX1-AD5-[J-A .
How to order @
\_Ejector assembly
zx1-wbpOd

AC00778 (M2.5 x 20)

How to Order Unit for Replacement

(3Vacuum switch unit

ZX1—AD5-| |—A ZSE2—-0X| |—[15]/C|-D
P port size V port size Unit for
[Nil ] M5 x 0.8 \ m replacement
LY [ M6 x 1 (Semi-standard) |
Output specifications
[15 [NPN open collector|  Piping specificationsl
E Nil | Grommet (0.6 m)
L Grommet (3 m)
I%‘ C | Connector (0.6 m)
Ejector exhaust CL | Connector (3 m)
1 Built-in silencer CN | Without connector

replacement

Nozzle diameter

05| 0.5mm
07| 0.7mm
10 1.0 mm

2 Port exhaust Rc /8
2T | Port exhaust 1/8-NPTF

@Filter unit

ZX1—-F1-| _[-D

V port size
[Nil ] M5 x 0.8 \
\ Y \ M6 x 1 (Semi-standard) \

D: Unit for replacement
Ex.) If a filter unit is replaced for a vacuum switch on ZX1071-F, indicate as
ZSE2-0X-15C-D.

924-1

N

YO

N[N
. I e n |
O

||| NA
z m|= &2
BISIE|IE|E|™

Equipment

®



\)



Vacuum Module:
Ejector System

Ejector System/Unit Construction (Refer to below for unit replacement.)

Manifold

Philips screw
AC00777 (M2.5 X 14)

How to order 3
Ejector assembly

zw1-wbOOd Y

Philips screw
AC00347 (M2.5 x 28)

How to order (1)
Valve unit (Supply valve: N.O.) (For
ZX1-VAK3OOOOOO-D-M

o
Philips screw /

AC00347(M2.5 x 28)
How to order (D
Valve unit (Supply valve: N.C.) (For replacement)
ZX1-VAK1OOOOO-D-m
Philips screw
AC00347(M2.5 x 28)

&4 How to order @
/_Manifold base

Zzx10-00-A-0

# |\ Individual spacer R1
ZX1-R1 /

~__ Adapter D

Aihps screw P3200159-P

How to order

@

Series ZX

Vacuum switch unit (For replacement)

P3200130-P

Philips screw

Philips screw
.~ AC00649 (M2.5 x 39)
Adapter B assembly
ZX1-AS:991 Note 3)

-002

Philips screw
$H“ AC00778 (M2.5 x 20)

Adapter B with V port plug

AC00238 (M2.5 x 8)

ZSE2-0XJ-1500-D
Philips screw
»AC00378 (M2.5 x 51)
/ Filter unit (For replacement)

Blanking assembly without V port plug

ZX1-BM1

How to order (1)

Valve unit (Supply valve: Air operated) (For replacement)

ZX1-VAK6JOOOO-D-M Note 2)
Philips screw Adapter D assembly
AC00106 (M2.5 x 12) ZX1-AD4-1-A

AC00106 (M2.5 x 12)
Individual spacer R1
ZX1-R1

Note 2) PV port size: M5

PV port size: Please contact SMC if an M6 is required.
Note 3) V port (M5): ZX1-AS-001
V port (M6): ZX1-AS-002

How to Order Unit for Replacement

(DValve unit = Refer to page 872 for details.

Combination of supply
valve and release valve

Solenoid valve rated voltag
Electrical entry
Light/Surge voltage suppressor

Manifold
All ports are equipped
with plugs.

ZX1-V A ——D—M—F
For ejector system—l_ CE/UKCA-

Unit for replacement

Manual operation Release flow rate adjusting needle
[ Nil [without lock nut
With lock nut

(2Manifold base
zzx1[05]-[ J[R]-A—
Stations —l_Exhaust

o1] 1 [ Nil_[Individual exhaust
5 E

For ejector system
Thread type (PD and PS ports are
equipped with plugs.)

08| 8

Nil Rcl/s
F G Supply port location
T NPTF R | Right side

L | Leftside

B | Both sides

compliant

(3Ejector assembly
ZX1-WD [05]

Unit for replacement
Nozzle diameter

05| 0.5mm
07| 0.7mm
10 1.0 mm

(@Vacuum switch unit
ZSE2—- 0X|;|

PV, V port size
[N [  wms5x08 |
\ Y ]M6x1 (Semi-slandard)\

Output specifications

[15 [NPN open collector
m PNP open collector

i Ejector exhaust

s g

Note 1) Common EXH port is open for common EXH type and |ZY[]
closed for individual EXH type. Common EXH is
applicable only to ejector system common EXH type.

N
~
l

N
[}
=
=

1

=
=
=

Built-in silencer

2

Port exhaust Rc /3

2T |Port exhaust 14-NPTF

=
m
e

3

Manifold
common exhaust

[C|-D

£2| X
s E|lm
E o

I Unit for replacement

Piping specifications

Nil | Grommet (0.6 m)
L Grommet (3 m)
C | Connector (0.6 m)
CL | Connector (3 m)
CN | Without connector

925 0



Series ZX

Vacuum Pump System/Unit Construction (Refer to below for unit replacement.)

How to order @

S 1 ng Ie un |t Vacuum switch unit (For replacement)
ZSE2-0X[1-1501-D
Philips screw
“”“AC00649 (M2.5 x 39)
/ Filter unit (For replacement)
(20 Philips screw
iRl —

AC00347 (M2.5 x 28)
How to order (1
Valve unit (Supply valve: N.O.) (For replacement)

K)ﬁ\-VBKaDDDDD-D-S

Cross-recessed
head screw for precision machine
AD00014 (M2.5 x 5)

How to order (D
Valve unit (Supply valve: N.C.) (For
ZX1-vBK1OOOOO-D-s

How to order (D
Valve unit (Supply valve: Air operated) (For replacement)
ZX1-vBKe[JOJOOO-D-S

How to Order Unit for Replacement

(Dvalve unit

ZX1-V B LlZ]B][ ]-[L]-D-S-

For vacuum

pump system
Combination of supply Single unit CE/UKCA-compliant
valve and release valve \(;51 zi)ur;;s equipped m
(Refer to page 903 for details.) : | Q@ [CE/UKCA-compliant

Unit for replacement
Solenoid valve rated voltage

Release flow rate adjusting needle

CE-compliant
17100 VAC 50/60 Hz | — [_Nil_[Without lock nut
3*[110 VAC 50/60 Hz | — With lock nut
g f: xgg : PV port size
[Nl ] M5 x 0.8 |
v 6 VDC o [ Y [M6x1 (Semi-standard)]
S 5VDC [ )
R 3VDC [ ) Manual operation
+ Applicable to plug connector only. | Nil | Non-locking push type ‘

When replacing a product that uses | B | Locking slotted type
a connector assembly with rectifier, .
replace the connector assembly as Light/Surge voltage suppressor
well. (Table (2) on page 903) [Nl ] None |

[ 4 ]With light/surge voltage suppressor\

Electrical entry
[ L [ L plug connector |
(@vacuum switch unit D: Unit for replacement

indicate as ZSE2-0X-15C-D. In this case, mounting screws

ZS E2— OX I? —_ -D Ex.) If a filter unit is replaced for a vacuum switch on ZX100-K15LZ-F,
Iy

PV, V port size - Unit f(_)r.repl_acement AC00796 (M2.5 x 39) (2 pcs.) are required.
[Nl | M5 x 0.8 \ Piping specifications If the unit is used on its own, not combined with others, “D” is not
| Y |M6x1 (Semi-standard)| Nil | Grommet (0.6 m) required.
- L | Grommet (3 m) Ex.) ZSE2-0X-15C, ZX1-VBK15LZ
Output specifications C | Connector (0.6 m)
[15 [NPN open collector | CL [ Connector (3 m)
[ 55 ] PNP open collector\ CN | Without connector

® 926



Vacuum Module: .
Vacuum Pump System Series ZX

Manifold How to order 3

Vacuum switch unit (For replacement)

ZSE2-0X[J-15[10-D
Philips screw
" AC00649 (M2.5 x 39)
Filter unit (For replacement)

Philips screw
AC00347 (M2.5 x 28)

Adapter B assembly Note 2)

ZX1-AS %0

Philips screw
5~ AC00238 (M2.5 x 8)

Adapter B with V port plu:
~~ P3200130-P
AN

& > Philips screw

»AC00238 (M2.5 x 8)

Philips screw
AC00347 (M2.5 X 28)

- e

N
=
=

% How to order @
/__Manifold base

Zzx10-00-8

Valve unit (Supply valve: N.O.) (For replacement)
ZX1-vBK3OOOOO-D-m
Philips screw v
AC00347 (M2.5 x 28)
How to order 1
Valve unit (Supply valve: N.C.) (For replacement),
zx1-vBK1OOOOO-D-m

How to order (1) &@

Blanking plate assembly without V port plug
ZX1-BM1

WEEE

N

YO

Note 1) PV port size: M5
PV port size: Please contact
SMC if an M6 is required.
Note 2) V port (M5): ZX1-AS-001
V port (M6): ZX1-AS-002

Philips screw
How to order (D AC00347 (M2.5 x 28) Philips
Valve unit (Supply valve: Air operated) (For replacement) screw

ZX1-vBK6JOOOO-D-M AC00106
Note 1) (M2.5 x 12)

Adapter D assembly /

N
~
l

P3200159-P

Philips screw
AC00106 (M2.5 x 12)

N
o
]

ZX1-AD4-1-A
Individual spacer R1 SP
ZX1-R1
. ZCUK
How to Order Unit for Replacement
(DValve unit = Refer to page 906 for details. (3Vacuum switch unit AMJ
ZX1-V B @@——D—M—Q ZSEz—on— [C]-D ANV
For vacuumd CE/UKCA-compliant PV, V port size
pump system Manifold [Nil [  M5x08 | Unit for AEP
Combination of supply Unit for <a:‘tﬁ;ﬁgzre equipped> [ Y [M6x1 (Semi-standard)] replacement

valve and release valve replacement Output specifications

Solenoid valve rated voltage m NPN open collector

Release flow rate adjusting needle 55 | PNP open collector

Electrical entry m Without lock nut Piping specifications 1 Equipment

E[=
g||m
a-]

Light/Surge voltage suppressor With lock nut Nil | Grommet (0.6 m)
Manual operation L Grommet (3 m)
C | Connector (0.6 m)
(2Manifold base * Refer to page 916 for details. CL | Connector (3 m)
sz1 m — — B CN | Without connector
Stations System for
01 1 external vacuum
8 : <PD port is equipped>
08 8 with plug.
Supply port location
R | Right side
L | Leftside
B | Both sides
Thread type
Nil Rcl/s
F G
T NPTF

927 ©



Series ZX

Vacuum Pump System/Manifold Assembly from Individual Unit

Manifold Assembly from individual unit

Vacuum switch

1. Remove Philips screws.

2. Remove cross-recessed head machine screw for
precision machinery.

3. Mount plugs to valve unit.

4. Mount valve unit with Philips screws AC00347
(M2.5 x 28) 3 pcs.

5. Mount vacuum switch to manifold with Philips
screws 2 pcs.
Follow tightening screw torque on Table (1).

L]

Philips screw
Note 1)

.

Note 1)

Even though screw type in use differs depending on
the combination (Table (2)), screws for an individual
unit and a manifold are common.

Table (2)
Combination Part no.
Vacuum switch ZSE2 AC00649
(M2.5 x 39)
Filter unit ZX1-F AC00347
(M2.5 x 28)

AC00347 (M2.5 x 28)

Cross-recessed head machine
screw for precision machinery
ADO00014 (M2.5 x’/s)

Philips screw \%

@ o\
M
- #1
ZX1-MP1 #1 If the PV port is M6 x 1, the plug for M6

Plug (M-5P-M6 x 1-X73) is available. Or, please
consider replacing the valve unit with a
valve unit for manifold (1D on page 927).

Table (1)
Part no. Description Quantity | Recommended tightening screw torque | In the case of manifold Single unit
Note 1) Philips screw 2 0.28 + 0.1 (N-m) Necessary Necessary
P3200150 Plate A 1 Not necessary Necessary
AD00014 (M2.5 x 5) | Cross-recessed head machine screw for precision machinery 1 0.28 £ 0.1 (N-m) Not necessary Necessary
M-3P Plug 2 0.46 = 0.05 (N-m) Necessary Not necessary
ZX1-MP1 *1 Plug 1 1.6 +£0.15 (N-m) Necessary Not necessary
E3
,(AMcz(JIgS):l;B) Philips screw 3 0.28 £ 0.1 (N-m) Necessary Not necessary

x Use AC00018 (M2.5 x 32) when individual spacers are used.

® 928



Ejector System/Manifold Assembly from Individual Unit

Manifold Assembly from individual unit

-

. Remove Philips screws.

2. Remove Philips screws, and then remove ejector

assembly from valve unit.
3. Mount plugs to valve unit.

4. Mount valve unit with Philips screws AC00347

(M2.5 x 28) 3 pcs.

5. Mount ejector assembly to manifold with Philips

screw AC00777 (M2.5 x 14) 1 pc.
6. Mount vacuum switch to manifold with Philips

screws 2 pcs.

Note 1)

Even though screw type in use differs depending on
the combination (Table (2)), screws for an individual

unit and a manifold are common.

Follow tightening screw torque on Table (1).

Table (2)

Combination

Part no.

Vacuum switch ZSE2

AC00378
(M2.5 x 51)

Filter unit ZX1-F

AC00649
(M2.5 x 39)

AC00347 (M2.5 x 28)
Philips screw N

ZX1-MP1*1

Vacuum switch

Vacuum Module:
Vacuum Pump System

Manifold base

Philips screw

Series ZX

x1 If the PV port is M6 x 1, the plug for M6
(M-5P-M6 x 1-X73) is available. Or, please

Plug consider replacing the valve unit with a
valve unit for manifold (D on page 925).
Table (1)
Part no. Description Quantity | Recommended tightening screw torque | In the case of manifold Single unit
Note 1) Philips screw 2 0.28 £ 0.1 (N-m) Necessary Necessary
P3200150 Plate A 1 Not necessary Necessary
AC00777 (M2.5 x 14) | Philips screw 1 0.28 £ 0.1 (N-m) Necessary Necessary
M-3P Plug 1 0.46 + 0.05 (N-m) Necessary Not necessary
ZX1-MP1 =1 Plug 1 1.6 £0.15 (N-m) Necessary Not necessary
*
:-\I\ICI:QO.ES:ZS) Philips screw 3 0.28 £ 0.1 (N-m) Necessary Not necessary

* Use AC00018 (M2.5 x 32) when individual spacers are used.

2=-=

N
=
=

8% |=|%|®]

Yl

N[N
i I e n |
O

<

b
gﬂ

= -
HIEAESE
o ) =

Equipment

@)



Series ZX

Made to Order Specifications:

de t0
'\n(i;rder

Please consult with SMC for detailed size, specifications and delivery.

n Valve Unit/Other Combinations of Supply Valve and Release Valve (Ejector unit)

E'Iector Unit

If those other than the standard combination of supply valves and release valves (Refer to page 867.) are required, select from the following
combinations. (Refer to page 866 for “How to Order”.)

Combination Symbol: K2

PD X———

External release pressure
SUP (PB) pont > 4 >D

Pilot valve
for supply

Combination Symbol: K4

PD ¥——

PA D> &

Combination Symbol: K5

PD X——

Release valve
MDD

® 930

Application: The supply pressure is
controlled by electric signals and a
vacuum release is effected by external
air.

How to Operate

Valve | Supply valve

Condition Solenoid valve
1. Work adsorption ON
2. Vacuum release OFF
3. Operationstop|  OFF

Release valve
Extemal 2 port valve
OFF
ON
OFF

Application:The supply pressure is
restricted by electric signals and a
vacuum release is effected by air
signals. Because the supply valve is
N.O., the pressure that is supplied to
the ejector is not interrupted during a
power outage; as a result, the state of
suction can be maintained. This
combination is used for preventing the
workpieces from dropping during
power outages.

How to Operate
Valve | Supply valve
Condition Solenoid valve
1. Work adsorption OFF
2. Viacuum release ON
3. Operation stop ON

Release valve
Air operated valve
OFF
ON
OFF

Application: The supply pressure is
controlled by external air signals and a
vacuum release is effected by the
solenoid valve.

How to Operate
Valve | Supply valve
Condition External 3 port valve
1. Work adsorption ON
2. Viacuum release OFF
3. Operationstop] ~ OFF

Release valve
Solenoid valve
OFF
ON
OFF

Combination Symbol: K7

PD X——

Release valve

PM——>D

Pilot valve
for supply

&)ﬁé —>D
Pilot valve [
for supply

Application: The supply pressure is
controlled by external air signals and a
vacuum release is effected by the
solenoid valve. Because the supply
valve is N.O., the pressure that is
supplied to the ejector is not
interrupted during a power outage; as
a result, the state of suction can be
maintained. This combination is used
for preventing the workpieces from
dropping during power outages.

How to Operate
Valve | Supply valve

Condition Air operated valve

1. Work adsorption OFF

2. Vacuum release ON

3. Operation stop ON

Release valve
Solenoid valve
OFF
ON
OFF

Application: This combination is used
for effecting control in accordance with
electric signals. A vacuum release is
effected by the intrusion of air between
the silencer, pad, and the workpiece.
This combination is used when there
is no need to accelerate the vacuum
release speed.

How to Operate
Valve | Supply valve

Condition Solenoid valve

1. Work adsorption ON

2. Viacuum release OFF

3. Operation stop] ~ OFF

Release valve

Application: It is used for controlling the
supply pressure through electric signals.
Because the supply valve is N.O., the
pressure that is supplied to the ejector is
not interrupted during a power outage;
as a result, the state of suction can be
maintained. This is used for preventing
the workpieces from dropping during
power outages. A vacuum release is
effected by the intrusion of air between
the silencer, pad, and the workpiece.
This combination is used when there is
no need to accelerate the vacuum
release speed.

How to Operate
Valve | Supply valve

Condition Solenoid valve
1. Work adsorption OFF

Release valve

2. Vacuum release ON

3. Operation stop ON




Combination Symbol: J3

PD X————

&Hé\—bo

Combination Symbol: D1

PD %——

Release valve

Ps >———
PV >——

Application: The supply pressure is
controlled by external air signals. A
vacuum release is effected by the
intrusion of air between the silencer,
pad, and the workpiece. This is used
when there is no need to accelerate
the vacuum release speed.

How to Operate
Valve | Supply valve

Condition Extemal 3 portvalve

1. Work adsorption ON

2. Vacwmrelease|  OFF

3. Operation sto)] ~ OFF

Release valve

Application: The supply pressure is
controlled by external air signals. Because
the supply valve is N.O., the pressure that
is supplied to the ejector is not interrupted
during a power outage; as a result, the
state of suction can be maintained. This is
used for preventing the workpieces from
dropping during power outages. A vacuum
release is effected by the intrusion of air
between the silencer, pad, and the
workpiece. This type is used when there is
no need to accelerate the vacuum release
speed.

How to Operate
Valve | Supply valve
Condition Air operated valve
1. Work adsorption OFF
2. Viacuum release ON —
3. Operation stop)] ~ OFF

Release valve

Application: The supply pressure is
controlled by the external valve and a
vacuum release is effected by the
solenoid valve.

How to Operate

Valve | Supply valve | Release valve
Condition External valve | Solenoid valve

1. Work adsorption ON OFF

2. Viacuum release OFF ON

3. Operationstop] ~ OFF OFF

Made to Order

Combination Symbol: D2

PD X——

Release valve

PS >—!
PV D>——

Combination Symbol: D3

PD X—

External release pressure
SUP (PB) port

S —
PV D—y

Combination Symbol: D4

PD X—

PA DT

PS D>—
PV D——

Specifications

Application: The supply pressure is
controlled by the external valve and a
vacuum release is effected by the
solenoid valve.

="

N
=
=

How to Operate
Valve | Supply valve |Release valve

FIEEE

Condition External valve | Solenoid valve

1. Work adsorption ON OFF

2. Vacuum release OFF ON

3. Operationstop] ~ OFF OFF ZYD

N
~
l

Application: The supply pressure is
controlled by the external valve and a
vacuum release is effected by the
external 2 port valve (vacuum valve).

N

POl

(7]

E|E|2|%|3]

ZCUK
MJ

How to Operate

Valve | Supply valve | Release valve
Condition External valve | Solenoid valve
1. Work adsorption ON OFF

2. Viacuum release OFF ON H E P

3. Operation stop] ~ OFF OFF

Application: The supply pressure is
controlled by the external valve and a
vacuum release is effected by external
air signals.

How to Operate

Valve | Supply valve | Release valve
Condition External valve | Air operated valve
1. Work adsorption ON OFF
2. Viacuum release OFF ON
3. Operation stop OFF OFF

931 ®



Series ZX

Made to Order Specifications:

de to
Mgrdef

Please consult with SMC for detailed size, specifications and delivery.

E Valve Unit/Other Combinations of Supply Valve and Release Valve (Vacuum pump system)

Vacuum Pump System

If those other than the standard combination of supply valves (Refer to page 903.) and release valves are required, select from the following
combinations. (Refer to page 902 for “How to Order”.)

Combination Symbol: K2

PD X

External release pressure

SUP (PB) port f

Pilot valve
for supply

—Jv

Combination Symbol: K4

PD X¥————

PA DT,

%%%g

Pilot valve
for supply

SNHEIY

qv

Combination Symbol: K5
PD X——

Release valve

® 932

Application: The supply pressure is
controlled by electric signals and a
vacuum release is effected by external
air.

How to Operate
Valve | Supply valve

Condition Solenoid valve | Extemal 2 portvalve

1. Work adsorption ON OFF

2. Viacuum release OFF ON

3. Operation stop] ~ OFF OFF

Release valve

Application: The supply pressure is
controlled by electric signals and a
vacuum release is effected by air
signals. Because the supply valve is
N.O., the pressure that is supplied to
the ejector is not interrupted during a
power outage; as a result, the state of
suction can be maintained. This
combination is used for preventing the
workpieces from dropping during
power outages.

How to Operate

Valve| Supply valve | Release valve
Condition Solenoid valve | Solenoid valve
1. Work adsorption OFF OFF
2. Viacuum release ON ON
3. Operation stop ON ON

Application: The supply pressure is
controlled by external air signals and a
vacuum release is effected by the
solenoid valve.

How to Operate
Valve| Supply valve

Condition External 3 portvalve | Solenoid valve

1. Work adsorption ON OFF

2. Vacumrelease|  OFF ON

3. Operationstop] ~ OFF OFF

Release valve

Combination Symbol: K7

PD X—

Release valve

PA D>

]

Ps >t
PV <t———

SNHEIN

<]V

Combination Symbol: J 1

PD %——

Pilot valve
for supply

—]V

Combination Symbol: J 2

PD X———

Pilot valve
for supply

SNHEIN

Application: The supply pressure is
controlled by external air signals and a
vacuum release is effected by the
solenoid valve. Because the supply
valve is the N.O., the pressure that is
supplied to the ejector is not
interrupted during a power outage; as
a result, the state of suction can be
maintained. This combination is used
for preventing the workpieces from
dropping during power outages.

How to Operate
Valve | Supply valve

Condition Air operated valve | Solenoid valve

1. Work adsorption OFF OFF

2. Viacuum release ON ON

3. Operation stop ON OFF

Release valve

Application: This combination is used
for controlling the pressure by electric
signals. Normally, the workpiece is
released due to the air leakage that
occurs between the pad and the
workpiece. However, if there is no air
leakage, the workpiece will not
become detached because the
vacuum state is maintained even when
the supply valve is turned OFF. To
effect releasing, an external 2 port

valve (vacuum valve) must be
provided.
How to Operate

Valve | Supply valve | Release valve

Condition Solenoid valve

1. Work adsorption ON —
2. \lacuum release OFF —
3. Operationstop] ~ OFF —

Application: Used for controlling with
electric signals. Because the supply
N.O., the pressure is not interrupted
during a power outage. This prevents
the workpieces from dropping.
Normally, the workpiece is released
due to leakage. However, if no air
leakage, the workpiece will not detach
because the vacuum state is
maintained even when the supply
valve is turned ON. To release, an
external 2 port valve (vacuum valve)
must be used.

How to Operate
Valve | Supply valve

Condition Solenoid valve

1. Work adsorption OFF

2. Vacuum release ON —

3. Operation stop ON

Release valve




Combination Symbol: J3

Combination Symbol: D1

PD X——

Release
valve

P b—
PV F—

Application: The supply pressure is
controlled by external air signals.
Normally, the workpiece is released
due to the air leakage that occurs
between the pad and the workpiece.
However, if there is no air leakage, the
workpiece will not become detached
because the vacuum state is
maintained even when the supply
valve is turned OFF. To effect
releasing, an external 2 port valve
(vacuum valve) must be provided.

How to Operate
Valve | Supply valve | Release valve

Condition Exemal3portvave | ———
1. Work adsorption ON e
2. Viacuum release OFF e
3. Operation stop] ~ OFF —

Application: Supply is controlled by
external air signals. Because the valve
is N.O., the pressure is not interrupted
during a power outage. This prevents
the workpieces from dropping.
Normally, the workpiece is released
due to leakage. However, if no
leakage, the workpiece will not detach
because the vacuum state is
maintained even when the valve is
turned ON. To release, an external 2
port valve (vacuum valve) must be
provided.

How to Operate
Valve | Supply valve | Release valve

Condition Air operated valve

1. Work adsorption OFF

2. Viacuum release ON e

3. Operation stop ON

Application: The supply pressure is
controlled by an external 2 port valve
(vacuum valve) and a vacuum release
is effected by the solenoid.

How to Operate

Valve | Supply valve | Release valve
Condition Exteral 2 portvalve | Solenoid valve
1. Work adsorption ON OFF
2. Vacwmrelease|  OFF ON
3. Operationstop] ~ OFF OFF

Made to Order

Combination Symbol: D2

PD X—

Release
valve

PS >—
PV <G

— v

Combination Symbol: D3

PD X——

External release pressure
SUP (PB) port

D—sL D

PS >—-——
PV Gy

Combination Symbol: D4
PD X—

PA DT

PS D———"
PV t—

Specifications

Application: The supply pressure is
controlled by an external 2 port valve
(vacuum valve) and a vacuum release
is effected by the solenoid.

="

N
=
=

How to Operate
Valve | Supply valve | Release valve

WEEE

Condition External 2 portvalve | Solenoid valve

1. Work adsorption ON OFF

2. Viacuum release OFF ON

3. Operationstop] ~ OFF OFF ZYD

N
~
l

Application: The supply pressure is
controlled by the external 2 port valve
(vacuum valve) and releasing is also
effected by the external 2 port valve.

N
O
]

<

N
(]
=
=

H

> |[=
m| =
0| =

How to Operate

Valve | Supply valve |Release valve
Condition Extemal 2 portvalve | Solenoid valve
1. Work adsorption ON OFF
2. Vacumrelease|  OFF ON
3. Operationstop)|  OFF OFF

E[=
g||m
a-]

Equipment

Application: The supply pressure is
controlled by the external 2 port valve
(vacuum valve) and vacuum release is
effected by external air signals.

How to Operate

Valve | Supply valve | Release valve
Condition Extemal 2 portvalve | Solenoid valve
1. Work adsorption ON OFF
2. Vacuum release OFF ON
3. Operationstop] ~ OFF OFF

933 ®

)

>



Series ZX
Made to Order Specifications:

Please consult with SMC for detailed size, specifications and delivery. c €

[Option]

E High Noise Reduction Silencer Assembly

ZX1|Nozzle diameter || Exhaust style | — [Valve|(Voltage||Electrical entry | X121| — [CE/UKCA-compliant

High noise reduction silencer assembly

Reduction in the exhaust noise from the ejector (Silencing effect 8 dB (A) Standard silencer assembly comparison)

- Acpc Noise reduction silencer assembly ZX1-HS1

(Silencer element: ZX1-SAE-X121)

)

m

I
L] 4]

Ordering example
ZX1101-K35LZ-EC-X121

Noise reduction silencer assembly ZX1-HS1
(Silencer element: ZX1-SAE-X121)

: )
u
: T
f
& e

Ordering example
Z7ZX102-R 1 pc.
# ZX1101-K15LZ-EC-X121 2 peCs.

©® 934



	Vacuum Module
	Ejector System/Vacuum Pump System
	Series ZX  Ejector System
	Ejector System/Manifold Specifications

	Series ZX  Vacuum Pump System
	Vacuum Pump System/Manifold Specifications

	Ejector System/Unit Construction
	Vacuum Pump System/Unit Construction
	Vacuum Pump System/Manifold Assembly from Individual Unit
	Made to Order Specifications:



